## PLEASANTVILLE BOARD OF EDUCATION Pleasantville High School/701 Mill Road/Cafeteria REGULAR BOARD WORKSHOP/ACTION MEETING July 14, 2015 6:09 P.M.

6:09 P.M. MINUTES

- 1. Call to Order by Mr. Paul Moore, Jr. at 6:09 p.m.
- 2. Reading of the Open Public Meetings Act Notice

#### **Statement-Board President**

"This is to advise those present at this July 14, 2015 Regular Board Meeting of the Board of Education of the City of Pleasantville, in the County of Atlantic, that Notice was given on January 21, 2015 of the 2015 Revised Annual Designation of the Regular Monthly Board Meetings, as required by the provisions of Chapter 231 of the Laws of 1975; Notice thereof has been distributed for publication in the Press, the Absecon/Pleasantville Current and the Mainland Journal, posted in the Administration Building and forwarded to the City Clerk of the City of Pleasantville, within the time required by said act."

3. Roll Call - Board Secretary, Mr. Elisha Thompkins:

Mrs. Bernice (Sandy) Couch	Present
Mr. Lawrence A. Davenport	Present
Ms. Silvia Landron	Present
Mr. Johnny McClellan	Present
Mr. Paul Moore, Jr.	Present
Ms. Sharnell S. Morgan	<u>Absent</u>
Mrs. Ethel Seymore	Present
Mrs. Carla Thomas	Present

4. Flag Salute and Moment of Silence by Mrs. Ethel Seymore

Motion to appoint the President of the PBOE.

Motion by: Mrs. Ethel Seymon	<u>e_</u>	Second by: Mrs. Carla Thomas	Yea: X
Roll Call:			
Mrs. Bernice (Sandy) Couch	Yes		
Mr. Lawrence A. Davenport	Yes		
Ms. Silvia Landron	Yes		
Mr. Johnny McClellan	Yes		
Mr. Paul Moore, Jr.	Yes		
Ms. Sharnell S. Morgan	Absent		
Mrs. Ethel Seymore	Yes		
Mrs. Carla Thomas	Yes		
MOTION PASSED			

Mrs. Bernice (Sandy) Couch nominated Mr. Lawrence Davenport as Board President.

Mr. Johnny McClellan nominated Mr. Paul Moore, Jr. as Board President.

#### Motion to appoint Mr. Paul Moore, Jr. as Board President.

Motion by: Mr. Johnny McClellan Second by: Mr. Paul Moore, Jr. Roll Call: Mrs. Bernice (Sandy) Couch Mr. Lawrence A. Davenport No Ms. Silvia Landron No Mr. Johnny McClellan Yes Mr. Paul Moore, Jr. Yes Ms. Sharnell S. Morgan Absent Mrs. Ethel Seymore No Mrs. Carla Thomas No MOTION FAILED

#### Motion to appoint Mr. Lawrence Davenport as Board President.

Motion by: Mrs. Ethel Seymore Second by: Mrs. Bernice (Sandy) Couch Yea: X Roll Call: Mrs. Bernice (Sandy) Couch Yes Mr. Lawrence A. Davenport Yes Ms. Silvia Landron Yes Mr. Johnny McClellan No Mr. Paul Moore, Jr. No Ms. Sharnell S. Morgan Absent Mrs. Ethel Seymore Yes Mrs. Carla Thomas Yes **MOTION PASSED** 

#### Mr. Lawrence Davenport is voted in as PBOE Board President.

- 5. Voices of the Children N/A
- 6. Interview candidates for vacant PBOE Board Member seat.

  One candidate responded to the advertisement of the vacant Board seat. The advertisement was publicized for 10 days and ran for 3 straight days in the Press of Atlantic City.

  Ms. Elysa Sanchez was interviewed by the PBOE.

#### Motion for Elysa Sanchez to fill the vacant Board seat.

Motion by: Mrs. Carla Thon	<u>nas</u> S	Second by:	Ms. Silvia Landron	Yea: X
Roll Call:		•		_
Mrs. Bernice (Sandy) Couch	<u>Yes</u>			
Ms. Silvia Landron	Yes			
Mr. Johnny McClellan	Yes			
Mr. Paul Moore, Jr.	<u>Yes</u>			
Ms. Sharnell S. Morgan	<u>Absent</u>			
Mrs. Ethel Seymore	<u>Yes</u>			
Mrs. Carla Thomas	Yes			
Mr. Lawrence A. Davenport	Yes			
MOTION PASSED				

Nay: <u>X</u>

#### Ms. Elysa Sanchez was sworn in as a Board Member of the PBOE.

7.	Review of Board Minutes – Mr. Elisha Thompkins:  Board Secretary  June 23, 2015 (Regular Board Meeting)  June 29, 2015 (Special Board Meeting)
	Motion to approve Board Minutes.
	Motion by: <u>Mrs. Carla Thomas</u> Second by: <u>Ms. Silvia Landron</u> Yea: <u>X</u> Roll Call:
	Mrs. Bernice (Sandy) Couch Abstain to 6/23/2015
	Ms. Silvia Landron         Yes           Mr. Johnny McClellan         Yes to 6/23/2015; No to 6/29/2015
	Mr. Paul Moore, Jr. Yes
	Ms. Sharnell S. Morgan Absent
	Ms. Elysa Sanchez  Abstain  You to 6/22/2015: Abstain to 6/20/2015
	Mrs. Ethel Seymore Yes to 6/23/2015; Abstain to 6/29/2015  Mrs. Carla Thomas Yes
	Mr. Lawrence A. Davenport Yes  MOTION PASSED
8.	Board Approval of Workshop/Action Agenda Items:
	Finance - Mr. E. Thompkins, Jr. presented and reviewed Finance Agenda.
	Facilities -Mr. D. Mulvihill reviewed the following items discussed at the recent Operation Committee
	Meeting: *Soccer Field
	*Methane Project
	*Track Project
	*SMSS Parking Lot (painting/striping), Basketball Courts and sidewalk *Technology (disposal of obsolete equipment)
	*Football practice will start August 8, 2015
	*New location of Truancy at PHS
	*Transportation
	<ul> <li>Personnel - Mr. E. Thompkins, Jr. presented and reviewed the Human Resources Agenda.</li> <li>Curriculum &amp; Instruction - Mrs. B. White presented and reviewed the C &amp; I Agenda.</li> </ul>
9.	Public Comments. Please limit comments to (5) minutes and all comments should be courteous and respectful *Craig Callaway
	*Gus Harmon
	*Lisa Ragland
	*Linda Henderson
Coi	ntinued on page 46.
10.	Motion to go into Executive Session
	Motion by Second by
11.	Executive Session
	Motion by and Seconded by at p.m., it hereby resolved that the Pleasantville Board of Education may go into closed or private session from which the
	public shall be excluded in accordance with the provisions as set forth in N.J.S.A. 10:4-12 and 10:4-13. The
	Principle of the first state of

following subjects shall be discussed on this date in the session of the Board closed to the public: PERSONNEL, PUPIL MATTERS, PENDING, AND ANTICIPATED LITIGATION. BE IT FURTHER RESOLVED that the discussion in closed session will be disclosed to the public at this time or a future meeting of the Board when it is no longer necessary to maintain the confidential nature of the items discussed.

12.	Motion to come out of Executive Session Motion by:	Second by:	Yea:	Nay:
			1 ou	<u>.</u>
13.	Reconvene Board Meeting			
	Motion to Adjourn the Meeting			
	Motion by:	Second by:	Yea:	Nay:

# PLEASANTVILLE BOARD OF EDUCATION Pleasantville High School/701 Mill Road/Cafeteria REGULAR BOARD WORKSHOP/ACTION MEETING July 14, 2015 6:00 P.M. (\*REVISED ON JULY 14, 2015) MINUTES

(\*Additional Items approved were provided as a separate packet at meeting but were merged into this Agenda for the Minutes.)

- 1. \*Approval of the Bill List for June 24, 2015 through June 30, 2015. Warrant Account in the amount of \$876,912.79. The payments have been reviewed by the Business Administrator/Board Secretary.
- 2. \*Approval of June 5, 2015 Payroll and Board Share of FICA/Medicare in the amount of \$2,321,268.15. The payments have been reviewed by the Business Administrator/Board Secretary.
- 3. \*Approval of June 19, 2015 Payroll and Board Share of FICA/Medicare in the amount of \$2,398,747.41. The payments have been reviewed by the Business Administrator/Board Secretary.
- 4. \*Approval of June 30, 2015 Payroll and Board Share of FICA/Medicare in the amount of \$311,247.86. The payments have been reviewed by the Business Administrator/Board Secretary.
- 5. Approval of the Transfers for Fund 11 account ending May 31, 2015 in the amount of \$1,754,957.00. The Transfers have been reviewed by the Business Administrator/Board Secretary.
- 6. Approval of the Transfers for Fund 15 account ending May 31, 2015 in the amount of \$227,213.00. The Transfers have been reviewed by the Business Administrator/Board Secretary.

#### 7. Certification of No Over Expenditures

Pursuant to N.J.A.C. 6A:22-2.11 (c), I, Mr. Elisha Thompkins, Jr., Board Secretary, certify that as of **May 31, 2015**, no budgetary line item account has obligation and payments which in total exceed the amount appropriated by the District Board of Education pursuant to N.J.S.A.18A:22-8 and 18A:22-8.1, and that the District financial accounts have been reconciled and are in balance.

- 8. Acceptance of the Treasurer and Secretary Reports for the month ending May 31, 2015. The Treasurer of School Monies and the Board Secretary's Reports are in balance for the cash receipts and disbursements for the month ending May 31, 2015.
- 9. Approval of the July 14, 2015 Facilities Usage Report.
- 10. Resolution to approve the repayment of the borrowed State-Aid to ABCO Federal Credit Union, Rancocas, New Jersey in the amount of \$3,223,041.00 which includes principle and interest.
- Resolution for the Pleasantville Board of Education to approve Elisha Thompkins, Jr., Business
   Administrator/Board Secretary as the 2015 State of New Jersey Department of the Treasury Designation of Public Agency Compliance Officer (PACO).

- 12. Resolution to approve the disposal of obsolete technology equipment.
- 13. **Be It Resolved**, that the Pleasantville Board of Education, authorizes the engagement of VERTI Consulting, for one (1) year, with a thirty (30) termination clause, maintained by the District, to engage and secure approval from the New Jersey School Development Authority for District expansion which will allow the District to meet the comprehensive needs of students within the District that are presently receiving services outside of the District.
- 14. Be It Resolved, that the Pleasantville Board of Education approve the attached Educational Data Services, Inc. through the New Jersey Cooperative Bidding Program "Time and Material Maintenance Bids" for License & Maintenance and Cooperative Skilled Trades, Compliance Services for the period April 1, 2015 through March 31, 2016 effective immediately.
- 15. **Be It Resolved**, that the Pleasantville Board of Education approve the technical support of Strauss Esmay Associates, LLP with the Annual Policy Alert & Support System Fee including Annual Maintenance and Support of Policy and Regulation Manuals and Annual Subscription to New Jersey School Digest in the amount not to exceed \$2,445.00; and the Annual District Online Maintenance Fee for fifteen users is not to exceed \$1,595.00 (Additional Users exceeding fifteen would be \$95 per person); Total Cost for the 2015-2016 fiscal year \$4,040.00. Account# 11-000-251-590-0000-351.
- 16. Be It Resolved, that the Pleasantville Board of Education approves the services of Blackboard Connect, Inc. as BC-STND-K2NA Connect Service Per User K-12 for the 2015-2016 fiscal year for the period of July 01, 2015 through June 30, 2016 as per attached Quote. Customer (PBOE) will send unlimited any-time messages to parents of enrolled students, administrators, faculty, staff, and Board Members. Amount not to exceed \$13,320.00. Account# 11-000-230-340-0000-351.
- 17. **Be It Resolved**, that the Pleasantville Board of Education approves the Membership Renewal services of New Jersey School Boards Association (NJSBA) for the 2015-2016 fiscal year for the period of July 01, 2015 through June 30, 2016 for the amount not to exceed \$26,662.70 as per attached Invoice 0000170744. Account# 11-000-230-895-0000-231.
- 18. **Be It Resolved**, that the Pleasantville Board of Education approves up to (18) eighteen high school students and (3) three staff members to participate in the Teen Pep Summer Retreat at Black Rock Retreat in Pennsylvania. The goal of the retreat is to teach team building process, leadership skills, provide foundational sexual health information and the role of a teen pep peer educator. The dates for the retreat are August 3, 2015 through August 5, 2015 (3 days/ 2 nights). The location of the Black Rock Retreat, Quarryville, PA; and the cost of the retreat is as follows: Hotel and meals \$4,687.22 account# 15-190-100-890-0000-050; two (2) advisors @ \$45.00 per hour not to exceed 55 hours, \$4,950.00 (not to exceed \$2,475.00 each) account# 15-401-100-100-0000-050; support person (Security) \$30.00 per hour for 29 hours not to exceed \$870.00 account# 15-401-100-100-0000-050; transportation (full-time district employee) not to exceed \$450.00 account# 15-000270-512-0000-050. Total cost is not to exceed \$11,297,22.

There is no additional transportation cost when using district bus transportation. Bus driver/bus will return after everyone is dropped off and will not be paid to stay.

Thirty (30) days prior to the Field Trip upon Board Approval - the district will submit for Atlantic County approval of Out-of-State Travel of the district staff; upon letter of approval the three staff members will be notified, and will be reminded of the procedure to submit their A-5 Summary within five days of their return.

19. **Whereas**, the Pleasantville Board of Education advertised Bid PPS 15-24 Small Vehicle Maintenance and Repair in the Press of Atlantic City on June 11, 2015; and

Whereas, the Pleasantville Board of Education had received one submission from Guenther's Mobil Service Inc. and conducted the Bid Opening on June 25, 2015 for Bid 15-24; and

**Whereas**, the Pleasantville Board of Education General Counsel reviewed the Bid PPS 15-24 and submitted an analysis with recommendation; so

**Be It Resolved**, that the Pleasantville Board of Education award the Bid PPS 15-24 Small Vehicle Maintenance and Repair to **Guenther's Mobil Service Inc**. for the 2015-2016 fiscal year. Not to exceed \$30,000.00; Account# 11-000-262-420-0000-352.

- 20. **TABLED Whereas**, the Pleasantville School Board wishes to enter into an Intergovernmental Agreement with the City of Atlantic City for:
  - 1. Gasoline and diesel fuel
  - 2. Salt
  - 3. Sand
  - 4. Vehicle maintenance services

Whereas, the City of Atlantic City approved the attached Intergovernmental Agreement at the City Council Meeting on July 8, 2015;

**Therefore Be It Resolved**, that the Pleasantville Board of Education approve the Intergovernmental Agreement between the Pleasantville Board of Education and the City of Atlantic City for gasoline, diesel fuel, salt, sand and vehicle maintenance services for the period from July 1, 2015 through June 30, 2016.

21. \*Resolution for the Pleasantville Board of Education to Reject RFP 21-52 Bid 15-23 for Bus Repair and Maintenance submitted by Malachi Trucking pursuant to N.J.S.A.18A:18A-22(e).

#### Background

The RFP 21-52 Bid 15-23 for Bus Repair and Maintenance was advertised in the Press of Atlantic City on June 11, 2015 and the Bid Opening was conducted on June 23, 2015. The Pleasantville Board of Education is rejecting this bid under this statute and will re-advertise.

- 22. Resolution for the Pleasantville Board of Education to approve the establishment of the Petty Cash account for the Pleasantville Board of Education Business Office for the 2015-2016 school year in the amount of \$300.00.
- 23. Resolution for the Pleasantville Board of Education to approve the establishment of the Petty Cash account for the Pleasantville Board of Education Facilities Department for the 2015-2016 school year in the amount of \$500.00.
- 24. Resolution for the Pleasantville Board of Education to approve the solicitation of competitive contracting for school based youth services for Pleasantville High School pursuant to Public School Contracts Law N.J.S.A. 18A:18A-4.1b.(1) for the 2015-2016 school year.

## 25. Resolution to approve the following to approve the following Pleasantville Students Out of District Placements for (ESY) Extended School Year 2014-2015 (fiscal year of 2015-2016) and Resolution to approve the Out of District Placements for 2015-2016 Special Education School Year.

Student Local ID# / State ID#	LOCATION	EFFECTIVE DATE	SERVICES	PER DIEM/ TUITION COST	PLACEMENT	GRADE	ACCOUNT #
1780022 / 6615096250	Cape May County Special Services	June 30, 2015- July 30, 2015	ESY	Not to Exceed \$2,500.00	Change in Placement	10	11-000-100-565-0000-400
MD = (20)  12309235/5805992890  1780009/2617292086  1480029/2976751981  1859143/6893483274  1625006/4991500403  1885001/7580636653  12755131/8525979133  12842561/5719716783  12926339/6433011054  1795095/4903793160  3081523/8632378036  1995100/9818709863  2080070/9521085965  3005675/3896473623  3041863/9947303948  3085463/2465209963  12690484/8425523626  11227744/4585760458  12697148/7806720306  12503052/8513554925	Atlantic County Special Services	July 6, 2015 – July 31, 2015	ESY	\$2,200.00 cost per student Not to Exceed \$44,000.00	Continuing	N/A	11-000-100-565-0000-400
AUT = (11) 1725002/ 2334492957 2085043/ 9251228907 12737222/9489195395 12737219/9032801123 3002968/ 7156548757 3067464/ 5951003535 1895086/ 7250327472 1460051/ 5186488033 11242537/5392964412 3062803/ 6276027481 11715497/124490676	Atlantic County Special Services	July 6, 2015 – July 31, 2015	ESY	\$2,200.00 cost per student Not to Exceed \$24,200.00	Continuing	N/A	11-000-100-565-0000-400
PSD = (2) 12116972/1127159205 12777128/6626922618	Atlantic County Special Services	July 6, 2015 – July 31, 2015	ESY	\$2,200.00 cost per student Not to Exceed \$4,400.00	Continuing	N/A	11-000-100-565-0000-400
CSV = (1) 1225004/ 2480252850	Atlantic County Special Services	July 6, 2015 – July 31, 2015	ESY	\$2,200.00 cost per student Not to Exceed \$2,200.00	Continuing	N/A	11-000-100-565-0000-400

1380012 / 7897420897	Coastal Learning Center	July 1, 2015- June 30, 2016 218 Days	Educational & ESY	\$260.08 per diem Not to Exceed \$56,697.44	Continuing	12	11-000-100-566-0000-400
1380012 / 7897420897	Coastal Learning Center	July 1, 2015- June 30, 2016 218 Days	1:1 Aide &ESY	\$135.00 per diem Not to Exceed \$29,430.00	Continuing	12	11-000-100-566-0000-400
3041863 / 9947303948	Atlantic County Special Services	July 1, 2015- June 30, 2016	1:1 Aide ESY & SY	\$43,740.00 SY \$2,200.00 ESY Not to Exceed \$45,940.00 Total	Continuing	8	11-000-100-565-0000-400
1225004 / 2480252850	Atlantic County Special Services	July 1, 2015- June 30, 2016	1:1 Aide ESY & SY	\$43,740.00 SY \$2,200.00 ESY Not to Exceed \$45,940.00 Total	Continuing	12	11-000-100-565-0000-400

### 26. Resolution to approve the following to approve the 2014-2015 Special Education Services Out of District Pleasantville students are as follows:

Student Local ID# / State ID#	LOCATION	EFFECTIVE DATE	SERVICES	PER DIEM/ TUITION COST	PLACEMENT	GRADE	ACCOUNT #
3082765 / 7196826590	S.J. Bridgeton Inspira Health Network	June 8, 2015- June 19, 2015	Educational	\$30.00 p/d Not Exceed \$600.00	Medical	3	11-150-100-320-0000-400
2025489 / 47895489	S.J. Bridgeton Inspira Health Network	June 8, 2015- June 19, 2015	Educational	\$30.00 p/d Not Exceed \$600.00	Medical	7	11-150-100-320-0000-400
11188647 / 284058510	S.J. Bridgeton Inspira Health Network	May 4, 2015 – June19, 2015	Educational	\$30.00 p/d Not Exceed \$2,100.00	Medical	3	11-150-100-320-0000-400
1695119 / 193346569	Education Inc.	June 2, 2015- June 14, 2015	Educational	\$44.00 p/d Not Exceed \$528.00	Medical	4	11-150-100-320-0000-400

## Motion to approve Finance Agenda Items, with the exception of Tabled Item (Intergovernmental Agreement with the City of Atlantic City.

Motion By: Mrs. Carla Thomas	Second By:	Ms. Silvia Landron Yea: X	
Roll Call:			
Mrs. Bernice (Sandy) Couch	Yes	Ms. Sharnell Morgan	Absent
Ms. Silvia Landron	Yes	Ms. Ethel Seymore	Yes
Ms. Elysa Sanchez	Yes	Ms. Carla Thomas	Yes
Mr. Johnny McClellan	Yes	Mr. Lawrence Davenport	Yes
Mr. Paul Moore	Yes	MOTION PASSED	

## PLEASANTVILLE BOARD OF EDUCATION HUMAN RESOURCES AGENDA ITEMS Board Workshop/Action Meeting Tuesday, July 14, 2015 MINUTES

It is recommended that the Board of Education accepts the recommendation of the Superintendent and hereby approves the following:

1. TABLED - New Hires:

Name	Position	Location	Effective Date	Salary	Funding Source
Kenneth S. Brown	Inventory Control	Business	August 3, 2015 –	\$55,547.00	11-000-251-105-0000-351
	Specialist	Office	June 30, 2016	(Pro-rated)	New Position

2. TABLED - SUBSTITUTE STAFF (PENDING CRIMINAL HISTORY CLEARANCE) ON AS NEEDED BASIS:

Name	Position	Location	Effective Date	Salary	Funding Source
David Hood	Substitute Custodian	District	July 15, 2015 – June 30, 2016	\$11.00 per hour	11-000-262-100-0000-352
Barry Little	Substitute Custodian	District	July 15, 2015 – June 30, 2016	11.00 per hour	11-000-262-100-0000-352
Emanuel Roman	Substitute Custodian	District	July 1, 2015 – June 30, 2016	\$11.00 per hour	11-000-262-100-0000-352
Charles Johnson	Substitute Custodian	District	July 1, 2015 – June 30, 2016	\$11.00 per hour	11-000-262-100-0000-352
Amanda Carty	Substitute School Nurse	District	September 1, 2015 – June 30, 2016	\$150.00 per day	11-110-100-100-0000-236 11-120-100-100-0000-236 11-130-100-100-0000-236 11-140-100-100-0000-236

#### 3. RESIGNATION:

Name	Position	Location	Effective Date	Salary	Funding Source
Constance Evans	Bus Driver	Transportation	July 17, 2015	N/A	N/A
	(Full-time)				

#### 4. RETIREMENT:

Name	Position/Assignment	Location	Effective Date	Salary	Funding Source
Willie Hollie	Instructional Aide	NMSS	December 31, 2015	N/A	N/A

5. VOLUNTEER (PENDING CRIMINAL HISTORY CLEARANCE):

Name	Position	Location	Effective Date	Salary	Funding Source
Stephen Williams	Band Volunteer	PHS	July 15, 2015 –	N/A	N/A
			June 30, 2016		

6. STAFF TRANSFERS:

Name	Position	Location	Effective Date	Salary	Funding Source
Virginia Baralus	Social Worker	PHS to SMSS	September 1, 2015 – June 30, 2016	No Change	15-000-211-100-0000-095
Blake Boffa	Teacher	PHS to MSP	September 1, 2015 – June 30, 2016	No Change	15-130-100-101-0000-055
Frank Cambron	Social Worker	ECH to MSP	September 1, 2015 – June 30, 2016	No Change	15-000-211-171-0000-055
Nicole Canary- Digironimo	Psychologist	ECH to PHS	September 1, 2015 – June 30, 2016	No Change	11-000-219-104-0000-434
Michael Daly	Teacher	MSP to LAS/NMSS	September 1, 2015 – June 30, 2016	No Change	15-120-100-101-0000-080 50% 15-120-100-101-0000-085 50%
Angela Davis	Teacher	NMSS to MSP	September 1, 2015 – June 30, 2016	No Change	15-213-100-101-0000-055
Rene DeSanto	Teacher	WAS to MSP	September 1, 2015 – June 30, 2016	No Change	15-130-100-101-0000-055
John Dulski	Teacher	PHS to MSP	September 1, 2015 – June 30, 2016	No Change	15-130-100-101-0000-055
Tara Esposito	Teacher	MSP to WAS	September 1, 2015 – June 30, 2016	No Change	15-120-100-101-0000-060
Lisa Gist-Ragland	Teacher	LAS to ECH	September 1, 2015 – June 30, 2016	No Change	20-218-100-101-0000-234
Rosangela Goldian	Teacher	SMSS to ECH	September 1, 2015 – June 30, 2016	No Change	20-218-100-101-0000-234
Donald Hanek	Teacher	ECH to LAS	September 1, 2015 – June 30, 2016	No Change	15-120-100-101-0000-080
Alyssa Hemberger	Speech Language Specialist	NMSS to LAS	September 1, 2015 – June 30, 2016	No Change	11-000-216-101-0000-400
Brent Higgins	Teacher	PHS to MSP	September 1, 2015 – June 30, 2016	No Change	15-130-100-101-0000-055
Shirley King	Teacher	WAS to MSP	September 1, 2015 – June 30, 2016	No Change	15-213-100-101-0000-055
Anne Kopke	Social Worker	MSP to ECH	September 1, 2015 – June 30, 2016	No Change	20-218-200-104-0000-234
Celina Kurtz	Teacher	ECH to SMSS	September 1, 2015 – June 30, 2016	No Change	15-120-100-101-0000-095
Katherine Macready	Teacher	LAS/NMSS to SMSS	September 1, 2015 – June 30, 2016	No Change	15-120-100-101-0000-095
Robert Manning	Teacher	PHS to MSP	September 1, 2015 – June 30, 2016	No Change	15-130-100-101-0000-055
Wayne Miller	Psychologist	NMSS to District	September 1, 2015 – June 30, 2016	No Change	11-000-219-104-0000-434
Tammy Misa	Teacher	NMSS to LAS	September 1, 2015 – June 30, 2016	No Change	15-120-100-101-0000-080

Name	Position	Location	Effective Date	Salary	Funding Source
Amy Pacentrilli	Teacher	ECH to LAS	September 1, 2015 – June 30, 2016	No Change	15-120-100-101-0000-080
Evelyn Pilarte-Custodio	Teacher	LAS to ECH	September 1, 2015 – June 30, 2016	No Change	20-218-100-101-0000-234
Donna Ranger	Social Worker	SMSS to NMSS	September 1, 2015 – June 30, 2016	No Change	15-000-211-100-0000-085
Shannon Rothman	Teacher	SMSS to LAS	September 1, 2015 – June 30, 2016	No Change	15-120-100-101-0000-080
Diane Thompson	Teacher	LAS to WAS	September 1, 2015 – June 30, 2016	No Change	15-120-100-101-0000-060
Nancy Wiesenfeld	Guidance	PHS to LAS/SMSS	September 1, 2015 – June 30, 2016	No Change	15-000-218-104-0000-080 50% 15-000-218-104-0000-095 50%
Samantha Wilson	Psychologist	PHS to ECH	September 1, 2015 – June 30, 2016	No Change	11-000-219-104-0000-434

7. FMLA LEAVE WITH PAY AND WITH BENEFITS (UNTIL ACCUMULATED LEAVE EXHAUSTED):

Name	Position	Location	Effective Date	Salary	Funding Source
Annette Del Rio	Secretary	PHS	June 6, 2015 – June 30, 2016 (Intermittent)	N/A	N/A
Gloradine Gause	Executive Secretary	Business Office	July 31, 2015 – June 30, 2016 (Anticipated return date January 31, 2016)	N/A	N/A
Chaylse McDavid-Whitland	Accountant	Business Office	July 15, 2015 – June 30, 2016 (Intermittent)	N/A	N/A

#### 8. CHILD REARING LEAVE OF ABSENCE WITHOUT PAY AND WITH BENEFITS:

Name	Position	Location	Effective Date	Salary	Funding Source
Alyssa Hemberger	Speech Language Specialist	NMSS	September 1, 2015 – June 30, 2016	N/A	N/A <sub>.</sub>

## 9. \*\*\*\*BOARD APPROVED JUNE 29, 2015 - ADDITIONAL ACCOUNT NUMBER ADDED TO SUPPLEMENT FUND 20 ACCOUNT. DISTRICT ACCOUNT NUMBER WILL ONLY BE UTILIZED ONCE ALL FUND 20 ACCOUNT MONIES ARE DEPLETED\*\*\*\*

SUMMER C.A.R.E. STAFF 2015-2016 SCHOOL YEAR (PENDING CRIMINAL HISTORY CLEARANCE AND BASED ON ADEQUATE STUDENT INVOLVEMENT) \*\*SUBSTITUTES WILL BE USED ON AN AS NEEDED BASIS\*\*

Name	Position	Location	Effective Date	Salary	Funding Source
Joseph Manetta	Site	LAS	July 6, 2015-	\$20.00 per hour	20-290-200-100-0001-545
Tracey Martin	Coordinator	SMSS	August 28, 2015	not to exceed	(2014-2015 - 21st CCLC)
Belinda McAllister		PHS	• ,	280 hours or	(
Vernon Beard		MSP		\$5,600.00	11-422-100-101-0000-236
Tawanda Brown				per person	(Additional Account #)
Christina Salcedo				' '	(,
Chelsea McCline	Substitute	LAS	July 6, 2015-	\$20.00 per hour	20-290-200-100-0001-545
Sheltrenia Jones	Site	SMSS	August 28, 2015	not to exceed	(2014-2015 - 21st CCLC)
	Coordinator	PHS		280 hours or	,
		MSP		\$5,600.00	11-422-100-101-0000-236
				per person	(Additional Account #)
Tia Pettigrew	Site	LAS	July 6 ,2015-	\$15.00 per hour	20-290-100-100-0001-545
Quana Barnes	Coordinator	SMSS	August 28, 2015	not to exceed	(2014-2015 - 21st CCLC)
Anthony Jonson	Aide	PHS		280 hours or	·
Kathiria Trinidad		MSP		\$4,200.00	11-422-100-101-0000-236
Manoushka Adam				per person	(Additional Account #)
Salilah Salaam	Substitute	LAS	July 6, 2015-	\$15.00 per hour	20-290-100-100-0001-545
*Gabrielle Laffette*	Site	SMSS	August 28, 2015	not to exceed	(2014-2015 - 21st CCLC)
Linda Henderson	Coordinator	PHS		280 hours or	
Christine Grabowski	Aide	MSP		\$4,200.00	11-422-100-101-0000-236
				per person	(Additional Account #)
Jonathan Polhemus	Teacher/	LAS	July 6, 2015-	\$45.00 per hour	20-290-100-100-0001-545
Arminta Jones	Tutor	SMSS	August 28, 2015	not to exceed	(2014-2015 - 21st CCLC)
Kaisha Medina		+		40 hours or	
Christopher Smith				\$1,800.00	11-422-100-101-0000-236
Yvonne Dill-White				per person	(Additional Account #)
Frances Brinkley Ward					
Martha Wisenbaker	:				
Raymond Frazier					
Dawn Karpinski	Substitute	LAS	July 6, 2015-	\$45.00 per hour	20-290-100-100-0001-545
Sarah Bailey	Teacher/	SMSS	August 28, 2015	not to exceed	(2014-2015 - 21st CCLC)
Kia Allen	Tutor		, tagast 20, 2010	40 hours or	(20172010 21 0020)
Bruce Harper				\$1,800.00	11-422-100-101-0000-236
				per person	(Additional Account #)
Curtis Hicks	Instructors	LAS	July 6, 2015-	\$25.00 per hour	20-290-100-100-0001-545
Jason Little		SMSS	August 28, 2015	not to exceed	(2014-2015 - 21st CCLC)
Crystal Moore		PHS	<b>J</b> , <b>t</b>	120 hours or	(=211.211.21
Bruce Harper		MSP		\$3,000.00	11-422-100-101-0000-236
Vida Torres				per person	(Additional Account #)
Bryan Barnes				' '	,
Branden Rowell	-				
Marlon Hargis					
Jonathan Polhemus	}				

Name	Position	Location	Effective Date	Salary	Funding Source
Eileen Harrigan					
Wayne Monroe					
Richard Hamidullah					
Marlene Crump					
Marcellus Manning					
Ashley Parker					
Kashia Medina					
David Dudley					
Tracey Boswell					
Arminta Jones					
Barbara Mayssonett					
Robert Anderson					

10. PULLED - BUILDING ADMINISTRATIVE STAFF TRANSFERS FOR THE 2015-2016 SCHOOL YEAR:

Name	Position	Location	Effective Date	Salary	Funding Source
Lisa Stuart-Smith	Principal (On Special Assignment)	LAS to C&I	July 15, 2015 – June 30, 2016	N/A	15-000-240-103-0000-060
Andrea Atkins Turner	Assistant Principal	MSP to LAS	July 15, 2015 – June 30, 2016	N/A	15-000-240-103-0000-080
Sherry Spence-Leslie	Assistant Principal	PHS/MSP Dual locations	July 15, 2015 – June 30, 2016	N/A	15-000-240-103-0000-050 (50%) 15-000-240-103-0000-055 (50%)
Angelika Sims	Dean of Students	PHS/MSP Dual locations	July 15, 2015 – June 30, 2016	N/A	15-000-240-103-0000-050 (50%) 15-000-240-103-0000-055 (50%)

11. MSP- GUIDANCE COUNSELORS SUMMER HOURS:

Name	Position	Location	Effective Date	Salary	Funding Source
Antoinette Wilson	Guidance Counselor	MSP	July 15, 2015 – August 31, 2015	\$45.00 per hour not to exceed 80 hours (\$3,600.00)	15-000-218-104-0000-055
Amee Watford	Guidance Counselor	MSP	July 15, 2015 – August 31, 2015	\$45.00 per hour not to exceed 80 hours (\$3,600.00)	15-000-218-104-0000-055
Luraine Randall	Guidance Counselor	MSP	July 15, 2015 – August 31, 2015	\$45.00 per hour not to exceed 80 hours (\$3,600.00)	15-000-218-104-0000-055

12. PHS & MSP - FALL COACHING POSITIONS FOR 2015-2016 SCHOOL YEAR (PENDING CRIMINAL HISTORY CLEARANCE AND VERIFICATION OF EDUCATIONAL OR SUBSTITUTE TEACHER CERTIFICATION):

Name	Position	Location	Effective Date	Salary	Funding Source
Lloyd Athill	Head Girls Cross	PHS	July 15, 2015 -	\$3,684.00	15-402-100-100-0000-050
(Substitute Certificate)	Country		June 30, 2016		
Alan Laws	Head Boys Cross	PHS	July 15, 2015 –	\$3,684.00	15-402-100-100-0000-050
(Substitute Certificate)	Country		June 30, 2016		
Scott Rullan	Head Girls Soccer	PHS	July 15, 2015 -	\$4,761.00	15-402-100-100-0000-050
(Teaching Certificate)			June 30, 2016		

Name	Position	Location	Effective Date	Salary	Funding Source
Richard McAllister	Assistant Girls	PHS	July 15, 2015 –	\$3,374.00	15-402-100-100-0000-050
(Teaching Certificate)	Soccer		June 30, 2016		
Harry Green	Head Girls Tennis	PHS	July 15, 2015 –	\$4,761.00	15-402-100-100-0000-050
(Teaching Certificate)			June 30, 2016		
Portia Petty	Assistant Girls	PHS	July 15, 2015 -	\$3,374.00	15-402-100-100-0000-050
(Teaching Certificate)	Tennis		June 30, 2016		
Mark Eykyn	Head Boys Soccer	PHS	July 15, 2015 –	\$4,761.00	15-402-100-100-0000-050
(Teaching Certificate)		<u> </u>	June 30, 2016		
John Toland	Assistant Boys	PHS	July 15, 2015 –	\$3,374.00	15-402-100-100-0000-050
(Teaching Certificate)	Soccer		June 30, 2016		
James Bucko	Head Girls	PHS	July 15, 2015 –	\$4,761.00	15-402-100-100-0000-050
(Teaching Certificate)	Volleyball		June 30, 2016		
Christine Teeney	Assistant Girls	PHS	July 15, 2015 –	\$3,374.00	15-402-100-100-0000-050
(Teaching Certificate)	Volleyball		June 30, 2016		
Amirah Jones	Head Football	PHS	July 15, 2015 –	\$2,759.00	15-402-100-100-0000-050
(Teaching Certificate)	Cheerleading		June 30, 2016		
Kenneth Cherry	Weight Training	PHS	July 15, 2015 –	\$2,851.00	15-402-100-100-0000-050
(Substitute Certificate)	Club Advisor		June 30, 2016		
Michael Kiefer	Head Girls Cross	MSP	July 15, 2015 –	\$2,446.00	15-402-100-100-0000-055
(Teaching Certificate)	Country		June 30, 2016		
Amee Watford	Head Co-ed	MSP	July 15, 2015 –	\$2,446.00	15-402-100-100-0000-055
(Teaching Certificate)	Soccer		June 30, 2016		
Nathan Henning	Volunteer Football	PHS	July 15, 2015 –	N/A	N/A
	Coach		June 30, 2016		

#### 13. CHILD STUDY TEAM IEP DIRECT SHIMMER TRAINING:

Name	Position	Location	Effective Date	Salary	Funding Source
Maura Bakely	Speech Language Specialist	NMSS	July 15, 2015 – August 31, 2015	\$30.00 per hour not to exceed 7 hours or \$210.00	11-000-219-101-0000-434
Virginia Baralus	Social Worker	PHS	July 15, 2015 – August 31, 2015	\$30.00 per hour not to exceed 7 hours or \$210.00	11-000-219-104-0000-434
Ann Campbell	Speech Language Specialist	WAS	July 15, 2015 – August 31, 2015	\$30.00 per hour not to exceed 7 hours or \$210.00	11-000-219-101-0000-434
Nicole Canary- Digironimo	Psychologist	ECH	July 15, 2015 – August 31, 2015	\$30.00 per hour not to exceed 7 hours or \$210.00	11-000-219-104-0000-434
Marissa Ebrahim	Speech Language Specialist	ECH	July 15, 2015 – August 31, 2015	\$30.00 per hour not to exceed 7 hours or \$210.00	11-000-219-101-0000-434
Karin Farkas	LDTC	District	July 15, 2015 – August 31, 2015	\$30.00 per hour not to exceed 7 hours or \$210.00	11-000-219-104-0000-434
Alyssa Hemberger	Speech Language Specialist	NMSS	July 15, 2015 – August 31, 2015	\$30.00 per hour not to exceed 7 hours or \$210.00	11-000-219-101-0000-434

Name	Position	Location	Effective Date	Salary	Funding Source
Yolanda Henderson	Social Worker	LAS	July 15, 2015 – August 31, 2015	\$30.00 per hour not to exceed 7 hours or \$210.00	11-000-219-104-0000-434
Amy Jolley	LDTC	District	July 15, 2015 – August 31, 2015	\$30.00 per hour not to exceed 7 hours or \$210.00	11-000-219-104-0000-434
Lauren Kratchman	Occupational Therapist	District	July 15, 2015 – August 31, 2015	\$30.00 per hour not to exceed 7 hours or \$210.00	11-000-219-104-0000-434
Turkessa Lee	Social Worker	MSP	July 15, 2015 – August 31, 2015	\$30.00 per hour not to exceed 7 hours or \$210.00	11-000-219-104-0000-434
Michele McIntyre	LDTC	District	July 15, 2015 – August 31, 2015	\$30.00 per hour not to exceed 7 hours or \$210.00	11-000-219-104-0000-434
Deneen McQueen	Social Worker	PHS	July 15, 2015 – August 31, 2015	\$30.00 per hour not to exceed 7 hours or \$210.00	11-000-219-104-0000-434
Sherri Michel	Psychologist	WAS	July 15, 2015 – August 31, 2015	\$30.00 per hour not to exceed 7 hours or \$210.00	11-000-219-104-0000-434
Wayne Miller	Psychologist	NMSS	July 15, 2015 – August 31, 2015	\$30.00 per hour not to exceed 7 hours or \$210.00	11-000-219-104-0000-434
Debra Mossbrook	LDTC	District	July 15, 2015 – August 31, 2015	\$30.00 per hour not to exceed 7 hours or \$210.00	11-000-219-104-0000-434
Laurie Poplawski	Social Worker	District	July 15, 2015 – August 31, 2015	\$30.00 per hour not to exceed 7 hours or \$210.00	11-000-219-104-0000-434
Francine Ramsey	Psychologist	District	July 15, 2015 – August 31, 2015	\$30.00 per hour not to exceed 7 hours or \$210.00	11-000-219-104-0000-434
Donna Ranger	Social Worker	SMSS	July 15, 2015 – August 31, 2015	\$30.00 per hour not to exceed 7 hours or \$210.00	11-000-219-104-0000-434
Remy Silver	Speech Therapist	SMSS	July 15, 2015 – August 31, 2015	\$30.00 per hour not to exceed 7 hours or \$210.00	11-000-219-104-0000-434
Gina Stryker	Occupational Therapist	LAS	July 15, 2015 – August 31, 2015	\$30.00 per hour not to exceed 7 hours or \$210.00	11-000-219-104-0000-434
Lea Valentino	Psychologist	MSP	July 15, 2015 – August 31, 2015	\$30.00 per hour not to exceed 7 hours or \$210.00	11-000-219-104-0000-434
Samantha Wilson	Psychologist	PHS	July 15, 2015 – August 31, 2015	\$30.00 per hour not to exceed 7 hours or \$210.00	11-000-219-104-0000-434

#### 14. PHS- 2015-2016 DEPARTMENT HEADS:

Name	Position	Location	Effective Date	Salary	Funding Source
Sara Bailey	Teacher - Science	PHS	July 15, 2015 – June 30, 2016	\$1,728.00	15-401-100-100-0000-050
Lindsey Marchesani	Teacher - Math	PHS	July 15, 2015 – June 30, 2016	\$1,728.00	15-401-100-100-0000-050
Tracy Boswell	Teacher – Arts/Business	PHS	July 15, 2015 – June 30, 2016	\$1,728.00	15-401-100-100-0000-050
Kellie Carman-Davis	Teacher – World Language	PHS	July 15, 2015 – June 30, 2016	\$1,728.00	15-401-100-100-0000-050
Nicole Mcneal	Teacher – Special Education	PHS	July 15, 2015 – June 30, 2016	\$1,728.00	15-401-100-100-0000-050
Kelsey Wiemer	Teacher – Social Studies	PHS	July 15, 2015 – June 30, 2016	\$1,728.00	15-401-100-100-0000-050
Josephine Troy	Teacher - English	PHS	July 15, 2015 – June 30, 2016	\$1,728.00	15-401-100-100-0000-050
Cynthia McClendon	Teacher – ESL	PHS	July 15, 2015 – June 30, 2016	\$1,728.00	15-401-100-100-0000-050
Ronald Tuzcak	Teacher – Health/P.E./JROTC	PHS	July 15, 2015 – June 30, 2016	\$1,728.00	15-401-100-100-0000-050

15. PHS - School Leadership Team:

Name	Position	Location	Effective Date	Salary	Funding Source
Adele Sand	Guidance Counselor	PHS	July 15, 2015 – August 29, 2015	\$30 per hour not to exceed 32 hours (\$960,00)	15-422-100-100-0000-050
Steven Katzen	Substance Abuse Counselor	PHS	July 15, 2015 – August 29, 2015	\$30 per hour not to exceed 32 hours (\$960.00)	15-422-100-100-0000-050
Frank Vergara	Dropout Prevention	PHS	July 15, 2015 – August 29, 2015	\$\$30 per hour not to exceed 32 hours (\$960.00)	15-422-100-100-0000-050
Deneen McQueen	Social Worker	PHS	July 15 2015 – August 29, 2015	\$30 per hour not to exceed 32 hours (\$960.00)	15-422-100-100-0000-050
Andrea Spence	Instructional Aide	PHS	July 15, 2015 – August 29, 2015	\$30 per hour not to exceed 32 hours (\$960.00)	15-422-100-100-0000-050

16. A-2 CONTRACTS (PENDING CRIMINAL HISTORY CLEARANCE):

Name	Position	Location	Effective Date	Salary/Stipend	Funding Source
Susan Arthur	Anti-Bullying Specialist	WAS	September 1, 2014 – June 30, 2015	\$1,728.00	15-000-218-104-0000-060
Mary Gillespie	Anti-Bullying Specialist	MSP	September 1, 2014 – June 30, 2015	\$1,728.00	15-000-218-104-0000-055
Stephen Katzen	Anti-Bullying Specialist	PHS	September 1, 2014 – June 30, 2015	\$1,728.00	15-000-218-104-0000-050
Candace Kelsey	Anti-Bullying Specialist	LAS	September 1, 2014 – June 30, 2015	\$1,728.00	15-000-218-104-0000-080

Name	Position	Location	Effective Date	Salary/Stipend	Funding Source
Mark Santanello	Anti-Bullying Specialist	NMSS	September 1, 2014 – June 30, 2015	\$1,728.00	15-000-218-104-0000-085
Cynthia Stocks	Anti-Bullying Specialist	SMSS	September 1, 2014 – June 30, 2015	\$1,728.00	15-000-218-104-0000-095

#### 17. PHS - DROPOUT PREVENTION TEAM:

Name	Position	Location	Effective Date	Salary	Funding Source
Angelika Sims	Dean of Students	PHS	July 15, 2015 – August 28, 2015	\$30 per hour not to exceed 15 hours (\$450.00)	15-422-100-100-0000-050
Stephen Katzen	SAC Counselor	PHS	July 15, 2015 – August 28, 2015	\$30 per hour not to exceed 15 hours (\$450.00)	15-422-100-100-0000-050
Frank Vergara	Dropout Prevention	PHS	July 15, 2015 – August 28, 2015	\$30 per hour not to exceed 15 hours (\$450.00)	15-422-100-100-0000-050
Jaques Johnson	Instructional Aide	PHS	July 15, 2015 – August 28, 2015	\$30 per hour not to exceed 15 hours (\$450.00)	15-422-200-100-0000-050

- **18. Resolution to approve** all certificated staff to be eligible to provide home instruction for the 2015-2016 school year, as needed. Staff will be paid according to PEA contract from account # 11-150-100-101-0000-400 and 11-219-100-101-0000-400.
- **19. Resolution to approve** Patricia Pressley to receive a stipend for additional responsibilities due to a vacant position on the PIRT. Ms. Pressley will be compensated at a rate of \$45.00 per hour not to exceed \$5,000.00 utilizing account# 20-218-200-104-0000-234 (2015-2016 Preschool effective September 1, 2015 June 30, 2016.
- 20. Resolution to approve Deneen McQueen and Virginia Baralus Social Workers from the Pleasantville High School Child Study Team to sponsor an expo "Life Beyond High School" on Tuesday, July 14, 2015 from 9:00am through 12:00pm. The event will be held at the Pleasantville High School. The expo will include community agencies that could be assistance to students with disabilities as they exit high school. Deneen McQueen and Virginia Baralus will be paid \$30.00 per hour not to exceed 3 hours (\$90.00 each) utilizing account# 11-000-219-104-0000-434.
- 21. Resolution to approve Luraine Randall, Middle School Guidance Counselor to begin her internship under the leadership of cooperating administrator Stephen L. Townsend which will begin June 24, 2015 through August 31, 2016. Dr. Randall is enrolled in the Master of Arts Educational Leadership Program at Thomas Edison State College, Trenton, NJ. The program requirements will not interfere with Luraine Randall or Stephen L. Townsend's contractual obligations to the district. Additionally there is no cost to the district for the internship.

22. Non-Union Salaries for 2015-2016 School Year:

		<del></del>			
Annette Diaz	Executive Secretary	Central Office	July 1, 2015 – June 30, 2016	\$58,639.00	11-000-230-100-0000-351
Daile Dixon-White	Senior Accountant/ Grants	Business Office	July 1, 2015 –	\$89,003.00	11-000-251-105-0000-351
TABLED - James Falkowski	Maintenance Foreman	Facilities	July 1, 2015 – June 30, 2016	\$71,459.00	11-000-261-100-0000-352
Donna Farrington	Assistant Transportation Coordinator	Transportation	July 1, 2015 – July 30, 2016	\$55,819.00	11-000-270-160-0000-352
Elizabeth Flores	EC Community Parent Involvement	Early Childhood	July 1, 2015 – June 30, 2016	\$58,489.00	20-218-200-173-0000-234 (2013-2014 Preschool)
Edward Fuhrmeister	Technology Coordinator	Curriculum and Instruction	July 1, 2015 – June 30, 2016	\$84,669.00	11-000-252-100-0000-334
Gloradine Gause	Executive	Business	July 1, 2015 –	\$57,262.00	11-000-251-105-0000-351
	Secretary	Office	June 30, 2016		
Diane Gresham	Secretary Benefits Specialist	Human	July 1, 2015 –	\$56,111.00	11-000-251-105-0000-236
	'	Human Resources	July 1, 2015 – June 30, 2016	\$56,111.00	11-000-251-105-0000-236
	'	Resources	June 30, 2016	•	
John Hannigan	Database	1	June 30, 2016	•	
	'	Resources	• '	\$110,967.00	11-000-251-105-0000-250
	'	Resources	June 30, 2016	•	
	'	Resources	June 30, 2016	•	
Diane Gresham				\$56,111.00	11-000-251-105-0000-236
Gloradine Gause	Executive	Business	July 1, 2015 –	\$57,262.00	11-000-251-105-0000-35
Edward Fuhrmeister	Technology	Curriculum and	July 1, 2015 –	\$84,669.00	(2013-2014 Preschool)
Elizabeth Flores	Coordinator EC Community		July 1, 2015 –	\$58,489.00	
	Assistant	Transportation	July 1, 2015 –	\$55,819.00	11-000-270-160-0000-35
	Maintenance	ļ <u> </u>	July 1, 2015 –	\$71,459.00	11-000-261-100-0000-35
·	Grants	1	July 1, 2015 – June 30, 2016	\$89,003.00	11-000-251-105-0000-35
	Secretary		June 30, 2016		
Mark Delcher	Resources	Resources Central Office	June 30, 2016	ΦΕΘ 620 00	11 000 220 100 0000 25
TABLED -	Director of Human	Human	June 30, 2016 July 1, 2015 –	\$143,798.00	11-000-230-105-0000-232
George Condry	Junior Computer Technician	, ,		\$35,875.00	11-000-252-100-0000-332
		Office	June 30, 2016		(80%) 20-231-200-100-0000-546 (20%) (2013-2014 NCLB Title I)
Kirsten Canuso	Account Specialist	Business	July 1, 2015 –	\$53,713.00	11-000-251-105-0000-351
Tanya Burgess	Payroll Clerk	Business Office	July 1, 2015 – June 30, 2016	\$53,459.00 \$53,721.00	<b>11-000-251-105-0000-351</b> 11-000-251-105-0000-351
TABLED - Kenneth S. Brown	CARE Program Coordinator	C.A.R.E	July 1, 2015 – June 30, 2016	\$55,547.00	20-290-200-100-0000-545 (2013-2014-21st-CCLC)
Robert Bloom	Network Engineer	Technology	July 1, 2015 – June 30, 2016	\$109,269.00	11-000-252-100-0000-334
Dorothy Boggs	Student Services Specialist	Student Services	July 1, 2015 – June 30, 2016	\$64,885.00	11-000-211-100-0000-434
Havana Berry	Achievement Accountability Specialist	Accountability Instruction Jur		\$63,225.00	11-000-221-105-0000-234
	Superintendent	Instruction	June 30, 2016  July 1, 2015 –  July 1, 2015 –		·
Name Garnell Bailey	Position Assistant	Location Curriculum and	Effective Date July 1, 2015 –	\$147,900.00	Funding Source 11-000-230-100-0000-232

Name	Position	Location	Effective Date	Salary	Funding Source
	Services	Services	June 30, 2016		( <del>50%)</del> · <del>11 000 219 104 0000 434</del> ( <del>50%)</del>
Catherine Manning	Accountant	Business Office	July 1, 2015 – June 30, 2016	\$76,500.00	11-000-251-105-0000-351
William Marsh	Facilities Coordinator	Maintenance	July 1, 2015 – June 30, 2016	\$128,765.00	11-000-262-100-0000-352 (50%) 11-000-261-100-0000-352 (50%)
Chaylse McDavid- Whitland	Accountant	Business Office	July 1, 2015 – June 30, 2016	\$54,108.00	11-000-251-105-0000-351
Dennis Mulvihill	Director of Operations	Business Office	July 1, 2015 – June 30, 2016	\$154,000.00	11-000-251-100-0000-351
Steven Mitchell	Truancy Officer	Truancy	July 1, 2015 – June 30, 2016	\$55,190.00	11-000-211-100-0000-434 (75%) 20-231-200-100-0000-545 (25%) (2013-2014-NCLB Title-I)
Rhonda Moore- McQueen	Executive Secretary	Central Administration	July 1, 2015 – June 30, 2016	\$57,711.00	11-000-230-100-0000-351
Christian Natello	Junior Computer Technician	Technology	July 1, 2015 – June 30, 2016	\$35,875.00	11-000-252-100-0000-334
Michael Pilate	Coordinator of Guidance and Scheduling	PHS	July 1, 2015 – June 30, 2016	\$102,000.00	15-000-218-104-0000-050
Brendan Smith	Fiscal Analyst	Business Office	July 1, 2015 – June 30, 2016	\$82,670.00	20-218-200-110-0000-234 (2013-2014 Preschool)
Temera Stafford	Executive Secretary	Human Resources	July 1, 2015 – June 30, 2016	\$56,455.00	11-000-230-100-0000-351
Elva Thomas	Payroll Specialist	Business Office	July 1, 2015 – June 30, 2016	\$68,399.00	11-000-251-105-0000-351
Elisha Thompkins	Business Admin/ Board Secretary	Business Office	July 1, 2015 – June 30, 2016	\$142,475.00	11-000-251-100-0000-351
Marionette Todd	Transportation Coordinator	Transportation	July 1, 2015 – June 30, 2016	\$93,276.00	11-000-270-160-0000-352 (25%) 11-000-251 105-0000-351 (75%)

23. SMSS 5TH GRADE PROFESSIONAL DEVELOPMENT DEPARTMENTALIZING TRAINING.

Name	Position	Location	Effective Date	Salary	Funding Source
Felicia Hyman-Medley	Principal	SMSS	July 15, 2015 – June 30, 2016	N/A	N/A
Lapell Chapman	Assistant Principal	SMSS	July 15, 2015 – June 30, 2016	N/A	N/A
Williamson, Victoria	Teacher	SMSS	July 15, 2015 – June 30, 2016	\$30 per hr. not to exceed 16 hrs. (\$480)	15-401-100-100-0000-095
Kiefer, Michael	Teacher	SMSS	July 15, 2015 – June 30, 2016	\$30 per hr. not to exceed 16 hrs. (\$480)	15-401-100-100-0000-095
Brinkley-Ward, Frances	Teacher	SMSS	July 15, 2015 – June 30, 2016	\$30 per hr. not to exceed 16 hrs. (\$480)	15-401-100-100-0000-095
Pinder, Rhonda	Teacher	SMSS	July 15, 2015 –	\$30 per hr. not to	15-401-100-100-0000-095

			June 30, 2016	exceed 16 hrs. (\$480)	
Frazier, Raymond	Teacher	SMSS	July 15, 2015 –	\$30 per hr. not to	15-401-100-100-0000-095
·			June 30, 2016	exceed 16 hrs. (\$480)	-
Roberts, Dolores	Teacher	SMSS	July 15, 2015 –	\$30 per hr. not to	15-401-100-100-0000-095
			June 30, 2016	exceed 16 hrs. (\$480)	

#### 24. SMSS – SCHOOL LEADERSHIP COMMITTEE:

Name	Position	Location	Effective Date	Salary	Funding Source
Felicia Hyman-Medley	Administrator	SMSS	July 15, 2015 – June 30, 2016	N/A	N/A
Lapell Chapman	Administrator	SMSS	July 15, 2015 – June 30, 2016	N/A	N/A
Butterhof, Jillian	Teacher	SMSS	July 15, 2015 – June 30, 2016	\$30 per hr. not to exceed 32 hrs. (\$960)	20-231-200-100-0000-545 (2015-2016 Title 1 SIP)
Alabarda, Terre	Teacher	SMSS	July 15, 2015 – June 30, 2016	\$30 per hr. not to exceed 16 hrs. (\$480)	20-231-200-100-0000-545 (2015-2016 Title 1 SIP)
Ceasar, Willie	Teacher	SMSS	July 15, 2015 – June 30, 2016	\$30 per hr. not to exceed 16 hrs. (\$480)	20-231-200-100-0000-545 (2015-2016 Title 1 SIP)
Cunningham, Tatiana	Teacher	SMSS	July 15, 2015 – June 30, 2016	\$30 per hr. not to exceed 32 hrs. (\$960)	20-231-200-100-0000-545 (2015-2016 Title 1 SIP)
Dill-White, Yvonne	Teacher	SMSS	July 15, 2015 – June 30, 2016	\$30 per hr. not to exceed 16 hrs. (\$480)	20-231-200-100-0000-545 (2015-2016 Title 1 SIP)
Gillespie, Y'Tanya	Teacher	SMSS	July 15, 2015 – June 30, 2016	\$30 per hr. not to exceed 16 hrs. (\$480)	20-231-200-100-0000-545 (2015-2016 Title 1 SIP)
Merion-Smalls, Ericka	Teacher	SMSS	July 15, 2015 – June 30, 2016	\$30 per hr. not to exceed 16 hrs. (\$480)	20-231-200-100-0000-545 (2015-2016 Title 1 SIP)
Moore, Beatrice	Instructional Aide	SMSS	July 15, 2015 – June 30, 2016	\$30 per hr. not to exceed 16 hrs. (\$480)	20-231-200-100-0000-545 (2015-2016 Title 1 SIP)
Roberts, Dolores	Teacher	SMSS	July 15, 2015 – June 30, 2016	\$30 per hr. not to exceed 16 hrs. (\$480)	20-231-200-100-0000-545 (2015-2016 Title 1 SIP)
Roller, Christine	Teacher	SMSS	July 15, 2015 – June 30, 2016	\$30 per hr. not to exceed 16 hrs. (\$480)	20-231-200-100-0000-545 (2015-2016 Title 1 SIP)
Stocks, Cynthia	Guidance Counselor	SMSS	July 15, 2015 – June 30, 2016	\$30 per hr. not to exceed 16 hrs. (\$480)	20-231-200-100-0000-545 (2015-2016 Title 1 SIP)
Turner, Kelly	Teacher	SMSS	July 15, 2015 – June 30, 2016	\$30 per hr. not to exceed 16 hrs. (\$480)	20-231-200-100-0000-545 (2015-2016 Title 1 SIP)
Watson, Erika	Teacher	SMSS	July 15, 2015 – June 30, 2016	\$30 per hr. not to exceed 16 hrs. (\$480)	20-231-200-100-0000-545 (2015-2016 Title 1 SIP)

#### 25. SMSS - CLIMATE COMMITTEE:

Name	Position	Location	Effective Date	Salary	Funding Source
Felicia Hyman-Medley	Principal	SMSS	July 15, 2015 – June 30, 2016	N/A	N/A
Lapell Chapman	Assistant Principal	SMSS	July 15, 2015 – June 30, 2016	N/A	N/A
Butterhof, Jillian	Teacher	SMSS	July 15, 2015 – June 30, 2016	\$30 per hr. not to exceed 32 hrs. (\$960)	20-231-200-100-0000-545 (2015-2016 Title 1 SIP)
Martinez, Jennifer	Teacher	SMSS	July 15, 2015 – June 30, 2016	\$30 per hr. not to exceed 32 hrs. (\$960)	20-231-200-100-0000-545 (2015-2016 Title 1 SIP)

Name	Position	Location	Effective Date	Salary	Funding Source
DeBlasio, Maryanne	Teacher	SMSS	July 15, 2015 –	\$30 per hr. not to	20-231-200-100-0000-545
	readiles	OIVIOO	June 30, 2016	exceed 16 hrs. (\$480)	(2015-2016 Title 1 SIP)
Frazier, Raymond	Teacher	SMSS	July 15, 2015 –	\$30 per hr. not to	20-231-200-100-0000-545
- razion, raymona	Todolloi	OWIGO	June 30, 2016	exceed 16 hrs. (\$480)	(2015-2016 Title 1 SIP)
Gault, Lena	Teacher	SMSS	July 15, 2015 –	\$30 per hr. not to	20-231-200-100-0000-545
Jaari, Loria	Todonor	OIVIOO	June 30, 2016	exceed 16 hrs. (\$480)	(2015-2016 Title 1 SIP)
Maisto, Beth	Teacher	SMSS	July 15, 2015 –	\$30 per hr. not to	20-231-200-100-0000-545
- Maioto, Dotti	Todolloi	SIVIOS	June 30, 2016	exceed 16 hrs. (\$480)	(2015-2016 Title 1 SIP)
Roberts, Dolores	Teacher	SMSS	July 15, 2015 –	\$30 per hr. not to	20-231-200-100-0000-545
Trobotto, Boloros		SIVIOO	June 30, 2016	exceed 16 hrs. (\$480)	(2015-2016 Title 1 SIP)
Rowell, Delnora	Teacher	SMSS	July 15, 2015 –	\$30 per hr. not to	20-231-200-100-0000-545
Tromon, Demora	TCaorici	OIVIOO	June 30, 2016	exceed 16 hrs. (\$480)	(2015-2016 Title 1 SIP)
Colvin-Squair, Tina	Instructional	SMSS	July 15, 2015 –	\$30 per hr. not to	20-231-200-100-0000-545
Comin oquali, Tilia	Aide	OWIGG	June 30, 2016	exceed 16 hrs. (\$480)	(2015-2016 Title 1 SIP)
Stocks, Cynthia	Guidance	SMSS	July 15, 2015 –	\$30 per hr. not to	20-231-200-100-0000-545
ototko, Ojitula	Counselor	JIVIOO	June 30, 2016	exceed 16 hrs. (\$480)	(2015-2016 Title 1 SIP)
Wesley, Adrienne	Teacher	SMSS	July 15, 2015 –	\$30 per hr. not to	20-231-200-100-0000-545
	TOUGHE	Olvioo	June 30, 2016	exceed 16 hrs. (\$480)	(2015-2016 Title 1 SIP)

MOTION BY:	SECOND BY:	Yea:	Nay:
ROLL CALL:  Ms. Bernice (Sandy) Couch  Ms. Elysa Sanchez  Ms. Silvia Landron  Mr. Johnny McClellan  Mr. Paul Moore, Jr.  Ms. Sharnell S. Morgan  Mrs. Ethel Seymore  Ms. Carla Thomas  Mr. Lawrence A. Davenport			
• ———			

Please see page 46 for the HR Agenda vote.

## PLEASANTVILLE BOARD OF EDUCATION CURRICULUM & INSTRUCTION AGENDA ITEMS

#### Board Workshop/Action Meeting Tuesday, July 14, 2015 MINUTES

The Superintendent of Schools recommends adoption of the following:

#### RESOLUTION

The Pleasantville Board of Education is committed to ensuring all students succeed academically and reach their full potential in life. In doing so, it is also committed to providing opportunities for and ensuring that all students (inclusive of English Language Learners and Special Education Students) meet the New Jersey Common Core State Standards and achieve academic and long-life success.

### 1. WORKSHOP/CONFERENCE ATTENDANCE: (ALL TRAVEL REIMBURSEMENT SUCH AS: MILEAGE, TOLLS AND PARKING MUST HAVE RECEIPTS)

Staff Member	Location	Title of Workshop/Conference	Date	Cost	Account #
Eugene	SMSS	All Things Google	07/23/15	\$ 178.00	15-000-223-580-0000-095
Croff		Stockton University		Registration	
Erika	ECC	ECERS-3 for Pre-School	07/27/15	\$ 27.45	20-218-200-580-0000-234
Baldwin		Masters Teachers	07/28/15	Mileage	
		Trenton, NJ			
Kimairy	ECC	ECERS-3 for Pre-School	07/27/15	\$ 26.90	20-218-200-580-0000-234
Candelaria		Masters Teachers	07/28/15	Mileage	
		Trenton, NJ			
Sheila	ECC	ECERS-3 for Pre-School	07/27/15	\$ 51.43	20-218-200-580-0000-234
Ceasar		Masters Teachers	07/28/15	Mileage	
		Trenton, NJ			
Reyna	MSP	School Leader Training,	07/23/15	\$ 130.00	15-000-223-500-0000-055
Hendricks		SE Law		Registration	
	1405	Stockton			
Reyna	MSP	Tenure Law & Regulations	08/06/15	\$ 130.00	15-000-223-500-0000-055
Hendricks	500	Stockton	0 = 10 = 11 =	Registration	
Martha	ECC	ECERS-3 for Pre-School	07/27/15	\$ 33.48	20-218-200-580-0000-234
Hoffnagle		Masters Teachers	07/28/15	Mileage	
Elizabeth	MSP	Trenton, NJ NSTA 2015 Summer Institute	07/28/15	<b>#</b> 000 00	45 000 000 500 0000 055
Hurley	IVIOP	AC, NJ	07/28/15	\$ 300.00	15-000-223-500-0000-055
Figure y		AC, NO		Registration	
				\$ 18.60	
Karen	MSP	School Leader Training	07/23/15	Mileage \$ 130.00	11-000-219-500-0000-400
Farkas	I WIOI	Special Education Law	01/23/13	Registration	11-000-219-500-0000-400
I Tarkao		Galloway, NJ	Superintendent	\$ 20.00	
		Galloway, 140	Approved 6/23/15	Mileage	
Maurice	District	School Leader Training	07/23/15	\$ 130.00	11-000-219-500-0000-400
Lesser		Special Education Law	Superintendent	Registration	11 000 210 000 0000-400
		Galloway, NJ	Approved 6/23/15	\$ 20.00	
			0/23/13	Mileage	

Staff Member	Location	Title of Workshop/Conference	Date	Cost	Account #
Francine Ramsey	MSP	WISC-V and Beyond School Phycologist EIRC-Mullica Township, NJ	10/05/15	\$ 149.00 Registration \$ 27.00 Mileage	11-000-219-500-0000-400
Amy Jolley	District	Non-Violent Crises Intervention Training Program Atlantic City, NJ	10/06/15 10/07/15 10/08/15 10/09/15	\$ 2,544.00 Registration	11-000-219-500-0000-400
Nanette Stuart-Pitts	C&I	School Leadership Training School Law Refresher Galloway Township, NJ	07/09/15 Superintendent Approved 6/23/15	5 ETTC Hours	ETTC Hours
Lisa Stuart-Smith	LAS	School Leadership Training School Law Refresher Galloway Township, NJ	07/09/15 Superintendent Approved 6/23/15	5 ETTC Hours	ETTC Hours
Howard Johnson	LAS	School Law Refresher Galloway, Township	07/09/15 Superintendent Approved 6/23/15	\$ 130.00	15-000-240-800-0000-080
Latanya Ellis	MSP	AVID Summer Institute Philadelphia, PA	07/27/15 07/28/15 07/29/15	\$ 769.00 Registration \$ 103.02 Mileage	20-231-200-500-0000-545 Title I SIP
Monica Foti	MSP	AVID Summer Institute Philadelphia, PA	07/27/15 07/28/15 07/29/15	\$ 769.00 Registration \$ 103.02 Mileage	20-231-200-500-0000-545 Title I SIP
Reyna Hendricks	MSP	AVID Summer Institute Philadelphia, PA	07/27/15 07/28/15 07/29/15	\$ 769.00 Registration \$ 103.02 Mileage	20-231-200-500-0000-545 Title   SIP
Ninette Philips	MSP	AVID Summer Institute Philadelphia, PA	07/27/15 07/28/15 07/29/15	\$ 769.00 Registration \$ 103.02 Mileage	20-231-200-500-0000-545 Title I SIP
Craig Polite	MSP	AVID Summer Institute Philadelphia, PA	07/27/15 07/28/15 07/29/15	\$ 769.00 Registration \$ 103.02 Mileage	20-231-200-500-0000-545 Title I SIP
Luraine Randall	MSP	AVID Summer Institute Philadelphia, PA	07/27/15 07/28/15 07/29/15	\$ 769.00 Registration \$ 103.02 Mileage	20-231-200-500-0000-545 Title I SIP
Linda Richards	MSP	AVID Summer Institute Philadelphia, PA	07/27/15 07/28/15 07/29/15	\$ 769.00 Registration \$ 103.02 Mileage	20-231-200-500-0000-545 Title I SIP

Staff Member	Location	Title of Workshop/Conference	Date	Cost	Account #
Stephen	MSP	AVID Summer Institute	07/27/15	\$ 769.00	20-231-200-500-0000-545
Townsend		Philadelphia, PA	07/28/15	Registration	Title I SIP
			07/29/15	\$ 103.02	
				Mileage	
Tara	MSP	AIE School Artist Teacher	07/26/15	\$ 168.75	15-000-223-500-0000-055
Esposito		Institute	08/01/15	Registration	
Janet	MSP	Bringing 21st Century Science	10/14/15	\$ 175.00	15-000-223-500-0000-055
Bravo		Skills to the Classroom		Registration	
		Princeton, NJ		\$ 53.23	
				Mileage	
William	MSP	Amistad Commission Summer	07/27/15	\$ 18.23	11-000-221-500-0000-234
Bartle		Institute	07/28/15	Mileage	
		Stockton University	07/29/15		
Ronald	MSP	Amistad Commission Summer	07/27/15	\$ 18.23	11-000-221-500-0000-234
Fogg		Institute	07/28/15	Mileage	
		Stockton University	07/29/15		
Janida	MSP	Amistad Commission Summer	07/27/15	\$ 18.23	11-000-221-500-0000-234
Delior		Institute	07/28/15	Mileage	
		Stockton University	07/29/15		
Yvonne Dill-	SMSS	All Things Google	07/30/15	\$ 178.00	15-000-223-580-0000-095
White				Registration	
Adrienne	SMSS	All Things Google	07/30/15	\$ 178.00	15-000-223-580-0000-095
Wesley				Registration	· .
Cassandra	SMSS	Wilson Professional Learning	08/04/15	\$ 78.72	15-000-223-580-0000-095
Russell				Mileage	
				\$ 15.00	
				Tolls	
Ruth	SMSS	Media Specialist Symposium	10/19/15	\$ 178.00	15-000+-223-580-0000-095
Homer					

#### 2. Activities

School/Program	Activity	Date	Cost	Account#	Time/Purpose
LAS	CAP Bullying Prevention	2015-2016 School Year	\$ 0.00	N/A	TBD
MSP	Strengthening Families Program by Atlantic Prevention Resources	2015-2016 School Year 11/2015 through 06/2016	\$ 0.00	N/A	TBD
MSP	Library Club	04/25/16	\$ 0.00	N/A	Increase student reading and motivation
MSP	Scholastic Book Fair	11/30/15	\$ 0.00	N/A	Book sales and offers prizes for the MSP Library Challenge

School/Program	Activity	Date	Cost	Account#	Time/Purpose
MSP	Alateen: Dealing with addictions	2015-2016 School Year	\$ 0.00	N/A	Select group of students that have a parent or sibling that abuses drugs/alcohol in need of support Guidance Office
MSP	Life Skills Classroom Program	2015-2016 School Year	\$ 0.00	N/A	Guidance Office
MSP	Alcove Bereavement Group	2015-2016 School Year	\$ 0.00	N/A	Support for children that have experienced a loss Guidance Office
ECC	Active Parenting Training	10/15/15 03/22/15	\$ 180.00 Refreshments	20-218-200-600-0000-234	8:45am-12:30pm Parents will learn about the various stages of development
ECC	Active Parenting Training	03/17/16 03/24/16	\$ 180.00 Refreshments	20-218-200-600-0000-234	8:45am-12:30pm Parents will learn about the various stages of development

3. Be it Resolved, that the Pleasantville Board of Education approve William Bartle, Ronald Fogg, and Janida Dellior to attend the Amistad Commission at Stockton University on July 27-29th. The institute will prepare participants to return to their classrooms with a deeper knowledge of American History and an understanding of the significant contribution of African-Americans. Each teacher will receive \$720 for the 3 day training.

Name	Position	Location	Effective Date	Salary	Funding Source
William Bartle	Teacher	MSP	July 27-29 2015	\$30 per hour for 24 hours not to exceed \$720.00	11-000-221-104-0000-234
Ronald Fogg	Teacher	Leeds	July 27-29 2015	\$30 per hour for 24 hours not to exceed \$720.00	11-000-221-104-0000-234
Janida Dellior	Teacher	Washington	July 27-29 2015	\$30 per hour for 24 hours not to exceed \$720.00	11-000-221-104-0000-234

**4.** Be it Resolved, that the Pleasantville Board of Education approve Winceyco LLC to provide 2.5 hours of Early Learning Math Melodies Professional Development to 20 Early Childhood Teachers on September 2, 2015. The cost is \$ 2,500.00 utilizing account # 20-218-200-329-0000-234.

5. Be it Resolved, that the Pleasantville Board of Education approve following Home Instruction student(s).

ID#	Projected Number of Days	Projected Number of Hours	Cost Per Hour	Projected Total Cost	Туре	Grade	Account
12602682 / 6899064639	10	20	\$ 45.00	\$ 900.00	Medical	4	11-219-100-101-0000-400

#### 6. Be it Resolved, that the Pleasantville Board of Education approve: *Pre AVID Planning, AVID Summer* Institute, AVID Academy, AVID Academy Staff.

#### AVID

AVID, Advancement Via Individual Determination, is a global nonprofit organization dedicated to closing the achievement gap by preparing all students for college and other postsecondary opportunities. Established more than 30 years ago AVID today impacts more than 800,000 students in 44 states and 16 other countries/territories. AVID:

Teaches skills and behaviors for academic success

Provides intensive support with tutorials and strong student/teacher relationships

Creates a positive peer group for students

Develops a sense of hope for personal achievement gained through hard work and determination

PART I: Pre-AVID Planning Team Middle School of Pleasantville staff members will work on the Pre-AVID Planning Team to required tasks before attending the AVID Summer Institute: recruit incoming 6th grade students, determine acceptance criteria, create a rubric for eligibility of AVID, and interview students. Once students have been selected, teachers will plan the AVID Schedule, place students in AVID classes, align all AVID activities to CCSS, create pacing charts, and plan the AVID Summer Academy for students. The team will also plan AVID special events for the 2015-2016 school year. There will be a total of five (5) teachers and one (1) guidance counselor participating in the AVID summer planning at the rate of \$30.00 per hour for fifteen (15) hours. The total cost for the AVID summer planning is not to exceed \$2,700.00

utilizing 20-231-200-500-0000-545 (Title | 2015-2016 SIP)

Name	Position	Location	Effective Date	Salary	Funding Source
Luraine Randall	Guidance Counselor	MSP	07/15/15	\$30.00 per hour for fifteen (15) hours. not to exceed \$2,700.00	20-231-200-500-0000-545 (Title I 2015-2016 SIP)
Ninette Phillips	Teacher	MSP .	07/15/15	\$30.00 per hour for fifteen (15) hours. not to exceed \$2,700.00	20-231-200-500-0000-545 (Title I 2015-2016 SIP)
Monica Foti	Teacher	MSP	07/15/15	\$30.00 per hour for fifteen (15) hours. not to exceed \$2,700.00	20-231-200-500-0000-545 (Title I 2015-2016 SIP)
Linda Richards	Teacher	MSP	07/15/15	\$30.00 per hour for fifteen (15) hours. not to exceed \$2,700.00	20-231-200-500-0000-545 (Title I 2015-2016 SIP)
Latanya Elias	Teacher	MSP	07/15/15	\$30.00 per hour for fifteen (15) hours. not to exceed \$2,700.00	20-231-200-500-0000-545 (Title I 2015-2016 SIP)
Craig Polite	Teacher	MSP	07/15/15	\$30.00 per hour for fifteen (15) hours. not to exceed \$2,700.00	20-231-200-500-0000-545 (Title I 2015-2016 SIP)

#### PART II: AVID Summer Institute (Teachers)

The following Middle School staff members and the AVID District Director will attend the AVID Summer Institute in Philadelphia, PA on July 27, 2015, July 28, 2015, and July 29, 2015. The Summer Institute is a three (3) day workshop designed to train staff members on the school wide implementation of the AVID program. Participants will learn strategies and techniques to empower students with the support needed to succeed in the most challenging classes. Teachers will be trained in *WICOR* during Summer Institute. AVID's learning support structure for middle and high school—and enhanced for higher education—is known as WICOR, which incorporates teaching/learning methodologies in the following critical areas: *Writing, Inquiry, Collaboration , Organization, and Reading* to Learn. WICOR provides a learning model that faculty can use to guide students to comprehend materials and concepts, and articulate ideas, at increasingly complex levels (scaffolding) within developmental, general education and discipline-based curricula in their major.

The AVID Summer Institute is the next step after the initial planning (student recruitment, interviews, scheduling, etc.) Once the staff has received training at Summer Institute they will be prepared to incorporate those strategies in the classroom.

Name	Position	Location	Effective Date	Salary	Funding Source
Ninette Philips	Teacher	MSP	7/27/15 7/29/15	\$30.00 per hr. not to exceed 24 hrs.	20-231-200-500-0000-545 Title I 2015-2016 SIP
			1120/10	(\$720.00)	1106 1 2013-2010 SIF
Monica Foti	Teacher	MSP	7/27/15	\$30.00 per hr. not	20-231-200-500-0000-545
			7/29/15	to exceed 24 hrs. (\$720.00)	Title I 2015-2016 SIP
Linda Richards	Teacher	MSP	7/16/14	\$30.00 per hr. not	20-231-200-500-0000-545
			7/18/14	to exceed 24 hrs. (\$720.00)	Title I 2015-2016 SIP
Luraine Randall	Teacher	MSP	7/27/15	\$30.00 per hr. not	20-231-200-500-0000-545
		·	7/29/15	to exceed 24 hrs. (\$720.00)	Title I 2015-2016 SIP
Latanya Elias	Teacher	MSP	7/27/15	\$30.00 per hr. not	20-231-200-500-0000-545
			7/29/15	to exceed 24 hrs. (\$720.00)	Title I 2015-2016 SIP
Craig Polite	Teacher	MSP	7/27/15	\$30.00 per hr. not	20-231-200-500-0000-545
			7/29/15	to exceed 24 hrs. (\$720.00)	Title I 2015-2016 SIP
Stephen L. Townsend	Principal	MSP	7/27/15	N/A	N/A
Davina K. Handrialia	0	MOD	7/29/15	N1/A	NIZA.
Rayna K. Hendricks	Assistant Principal	MSP	7/27/15 7/29/15	N/A	N/A
TBD (District Director)	TBD	TBD	7/27/15 7/29/15	N/A	N/A

#### PART III: AVID Summer Academy (Students)

The Middle School of Pleasantville will hold an AVID Summer Academy for incoming 6th grade students who have been accepted into the AVID Program. The Academy will service approximately 60 students. The AVID Summer Academy will help acclimate students to the Middle School, as well as the routines, study skills, organizational skills, and learning activities that accompany the program. Students will receive instruction in ELA, Math, Science, Social Studies, and AVID Prep. The program will be held from Monday, August 3, 2015 through Thursday, August 13, 2015. The program will run from 9:00am until 11:00am daily.

The AVID Summer Academy will service approximately 60 students. The students will receive a snack each day and transportation will be provided.

The following Middle School of Pleasantville staff members will work the AVID Summer Academy for the Middle School of Pleasantville. These teachers are the members of the AVID Site Team who will receive training at Summer Institute. There will be a total of five (5) teachers participating in the AVID Summer Academy. Teachers will be paid at the rate of \$45.00 per hour. The total cost for salaries for the AVID Summer Academy is not to exceed \$3,600.00 utilizing 20-231-200-500-0000-545 (Title I 2015-2016 SIP).

7. Be it Resolved, that the Pleasantville Board of Education approve a summer Advanced Placement (AP) program to raise the academic achievement of 2015-2016 AP students in grades 11-12. Courses will run for two (2) weeks and will consist of eight (8) possible courses that will focus on mathematics, English, science, history, French, and Spanish. The total cost for this program is not to exceed \$12,000.00. Funding Source #15-401-100-0000-050.

Name	Position	Location	Effective Date	Salary	Funding Source
Lisa Betty	Teacher - Calculus	PHS	August 3, 2015 – August 28, 2015	\$45.00 per hour not to exceed 32 hours (\$1,440.00)	15-401-100-100-0000-050
Kellie Carman-Davis	Teacher – French	PHS	August 3, 2015 – August 28, 2015	\$45.00 per hour not to exceed 32 hours (\$1,440.00)	15-401-100-100-0000-050
Anne Hughes	Teacher – History	PHS	August 3, 2015 – August 28, 2015	\$45.00 per hour not to exceed 32 hours (\$1,440.00)	15-401-100-100-0000-050
Susan Johnston	Teacher – English	PHS	August 3, 2015 – August 28, 2015	\$45.00 per hour not to exceed 32 hours (\$1,440.00)	15-401-100-100-0000-050
Jonathan Howell	Teacher –Statistics	PHS	August 3, 2015 – August 28, 2015	\$45.00 per hour not to exceed 32 hours (\$1,440.00)	15-401-100-100-0000-050
James Nagbe	Teacher – Chemistry	PHS	August 3, 2015 – August 28, 2015	\$45.00 per hour not to exceed 32 hours (\$1,440.00)	15-401-100-100-0000-050
Jonathan Polhemus	Teacher – Biology	PHS	August 3, 2015 – August 28, 2015	\$45.00 per hour not to exceed 32 hours (\$1,440.00)	15-401-100-100-0000-050

8. Be it Resolved, that the Pleasantville Board of Education approve the Pleasantville High-school Summer Dance Introductory Camp. Dance Camp will introduce to students the fundamentals of Dance Technique in Ballet, (Horton) Modern, Jazz, and Tap. The program will run from July 20, 2015 through July 30, 2015 not to exceed \$2,880.00. Funding Source #15-401-100-100-0000-050. Instructor TBD.

Name	Position	Location	Effective Date	Salary	Funding Source
TBD	Dance Teacher	PHS	July 20, 2015 – July 30, 2015	\$45 per hour not to exceed 32 hours (\$1,440.00)	15-401-100-100-0000-050
TBD	Dance Assistant	PHS	July 20, 2015 – July 30, 2015	\$30 per hour not to exceed 32 hours (\$960.00)	15-401-100-100-0000-050

- 9. Be it Resolved, that the Pleasantville Board of Education approve payment to On-Course Systems for six (6) one-hour webinar trainings for completing the Master schedule at the middle school in the amount not to exceed \$600.00 using account # 15-000-240-500-0000-055. The MSP Principal and three (3) Guidance Counselors will have access to the On-Course webinar.
- **10.** Be it Resolved, that the Pleasantville Board of Education approve Richard Stockton University to host graduate courses for Pleasantville teachers during the 2015-2016 school year. Classes will be held at Pleasantville high school after school hours. There is no cost to the district.
- 11. Be it Resolved, that the Pleasantville Board of Education approve Therapy Dogs (TDI) at North Main Street School during the summer to assist children with special needs to grow both socially and emotionally. TDI will assist students by teaching them companionship, emotional expression, promote verbal skills and address many of their sensory issues. There is no additional cost to the district.
- 12. Be it Resolved, that the Pleasantville Board of Education approve Water Play at North Main Street School during the summer for (10) special needs students. Water Play will assist students by teaching them community, emotional expression, promote verbal skills and address many of their sensory issues. There is no additional cost to the district.

13. Be it Resolved, that the Pleasantville Board of Education approve the following staff to work on the Apple and Connect Ed Summer Project at North Main Street School. Staff will develop the PDP plan, ipad Policy, Complete coursework in iUniversity.

Name	Position	Location	Effective Date	Salary	Funding Source
Renee Alford	Teacher	NMSS	July 27, 2015 – August 14, 2015	\$30.00 per hour not to exceed 32 hours (\$960.00)	15-000-223-100-0000-085
Michelle McCline	Teacher	NMSS	July 27, 2015 – August 14, 2015	\$30.00 per hour not to exceed 32 hours (\$960.00)	15-000-223-100-0000-085
Michael Dare-Gentile	Teacher	NMSS	July 27, 2015 – August 14, 2015	\$30.00 per hour not to exceed 32 hours (\$960.00)	15-000-223-100-0000-085
Mark Santanello	Guidance Counselor	NMSS	July 27, 2015 – August 14, 2015	\$30.00 per hour not to exceed 32 hours (\$960.00)	15-000-223-100-0000-085
Renee Gensamer	Academic Coach	NMSS	July 27, 2015 – August 14, 2015	\$30.00 per hour not to exceed 32 hours (\$960.00)	15-000-223-100-0000-085

- 14. Be it Resolved, that the Pleasantville Board of Education approve North Main Street School to participate in Innovate NJ and Classroom Close up for the 2015-2016 school year. Classroom Close-Up features innovative projects in NJ public schools and Innovate NJ is a State initiative which supports innovation and practice by fostering sharing and collaboration through cultivating projects and partnerships. There is no additional cost to the district.
- **15.** Be it Resolved, that the Pleasantville Board of Education approve Pleasantville High School Marching Band Dancers, and JROTC to participate in the Pleasantville National Night Out on Tuesday, August 4, 2105 from 5:00pm-8:00pm. The event will be held at the Hope 6 Community Development on Woodland Avenue.

- Transportation is needed for PHS students participating in the program from the High School to Woodland Avenue. (Rain Date is August 5, 2015).
- 16. Be it Resolved, that the Pleasantville Board of Education approve Michael Daly as temporary PHS Band Director to receive a stipend for twenty four (24) hours to work with PHS Band Club beginning June 17, 2015, and ending July 3, 2015 at a rate of \$45.00 per hour not to exceed a total of \$1080.00 utilizing account #15-422-100-100-0000-050.
- 17. Be it Resolved, that the Pleasantville Board of Education approve Michael Daly as temporary PHS Band Director to receive a stipend for five (5) hours to work with PHS Band Club on July 4th, 2015, for the Fourth of July Parade at a rate of \$45.00 per hour not to exceed a total of \$225.00 utilizing account #15-422-100-100-0000-050.
- 18. Be it Resolved, that the Pleasantville Board of Education approve Tamar LaSure-Owens as Band Assistant/HYPE Lady to receive a stipend for twenty four (24) hours to work with PHS Band Club beginning June 17, 2015, and ending July 3, 2015 at a rate of \$45.00 per hour not to exceed a total of \$1080.00 utilizing account #15-422-100-100-0000-050.
- 19. Be it Resolved, that the Pleasantville Board of Education approve Tamar LaSure-Owens as Band Assistant/HYPE Lady to receive a stipend for five (5) hours to work with PHS Band Club on July 4th, 2015, for the Fourth of July Parade at a rate of \$45.00 per hour not to exceed a total of \$225.00 utilizing account #15-422-100-100-0000-050.
- 20. Be it Resolved, that the Pleasantville Board of Education approve Cynthia Trapp as Color guard (Dancers) Coach to receive a stipend for twenty four (24) hours to work with PHS Band Club beginning June 17, 2015, and ending July 3, 2015 at a rate of \$30.00 per hour not to exceed a total of \$720.00 utilizing account #15-422-100-100-0000-050.
- 21. Be it Resolved, that the Pleasantville Board of Education approve Cynthia Trapp as Color guard (Dancers) to receive a stipend for five (5) hours to work with PHS Band Club on July 4th, 2015, for the Fourth of July Parade at a rate of \$30.00 per hour not to exceed a total of \$150.00 utilizing account #15-422-100-100-0000-050.
- 22. Be it Resolved, that the Pleasantville Board of Education approve Sonia Trapp as Color guard (Flags) Coach to receive a stipend for twenty four (24) hours to work with PHS Band Club beginning June 17, 2015, and ending July 3, 2015 at a rate of \$30.00 per hour not to exceed a total of \$720.00 utilizing account #15-422-100-100-0000-050.
- 23. Be it Resolved, that the Pleasantville Board of Education approve Sonia Trapp as Color guard (Flags) to receive a stipend for five (5) hours to work with PHS Band Club on July 4th, 2015, for the Fourth of July Parade at a rate of \$30.00 per hour not to exceed a total of \$150.00 utilizing account #15-422-100-100-0000-050.
- 24. Be it Resolved, that the Pleasantville Board of Education approve the additional staff required to service the number of students that will be attending the District English Language Learner (ELL)/Bilingual/ESL Summer Academy beginning July 6th, 2015-July 30th, 2015. The programs will run for 16 days from 8:30am 12:30pm, Monday through Thursday. The summer program is essential for continued growth in the target language. Summer enrichment will enhance the students' knowledge in academic subjects and provide students with hands on activities and opportunities for instruction in the creative and performing arts.

The goal is to better prepare students for the upcoming school year and to fulfill requirements for the state

improvement plan for the ELL K-12.

Name	Position	Location	Effective Date	Salary	Funding Source
Faith Penrose to replace (Susana Faulhaber)	Teacher	WAS	07/06/15 07/30/15	\$ 30.00 per Hour not to exceed 4 hours per day for 16 days. (64 hours total) \$ 1,920.00	# 20-241-100-101-0000-545 (2015-2016 Title III Instructional Salaries)
Grizilda Flores	Teacher	WAS	07/06/15 07/30/15	\$ 30.00 per Hour not to exceed 4 hours per day for 16 days. (64 hours total) \$ 1,920.00	# 20-241-100-101-0000-545 (2015-2016 Title III Instructional Salaries)
Kathy Syvarth	Teacher	WAS	07/06/15 07/30/15	\$ 30.00 per Hour not to exceed 4 hours per day for 16 days. (64 hours total) \$ 1,920.00	# 20-241-100-101-0000-545 (2015-2016 Title III Instructional Salaries)
Lynn Planer	Teacher	WAS	07/06/15 07/30/15	\$ 30.00 per Hour not to exceed 4 hours per day for 16 days. (64 hours total) \$ 1,920.00	# 20-241-100-101-0000-545 (2015-2016 Title III Instructional Salaries)
Tina Favre	Teacher	WAS	07/06/15 07/30/15	\$ 30.00 per Hour not to exceed 4 hours per day for 16 days. (64 hours total) \$ 1,920.00	# 20-241-100-101-0000-545 (2015-2016 Title III Instructional Salaries)

**25.** Be it Resolved, that the Pleasantville Board of Education approve the following 3 staff members to provide testing during the summer for newly registered English Language Learners. This will allow for proper placement in September according to their language needs.

Position Name Location **Effective Date** Salary **Funding Source** Lynn Planer Teacher WAS 07/15/15 40 hours @ NCLB Title III Account # 20-\$45.00 an hour 241-100-101-0000-545 not to exceed (2015-2016 Title III \$1,800 Instructional Salaries) Renee Gensamer **ELLA Coach** WAS 07/15/15 40 hours @ NCLB Title III Account # 20-\$45.00 an hour 241-100-101-0000-545 not to exceed (2015-2016 Title III \$1,800 Instructional Salaries) Timothy Newkirk Teacher WAS 07/15/15 40 hours @ NCLB Title III Account # 20-\$45.00 an hour 241-100-101-0000-545 not to exceed (2015-2016 Title III \$1,800 Instructional Salaries)

**26.** Be it Resolved, that the Pleasantville Board of Education approve 2 teachers to work each to research include scaffolds, supports and resources for ELLs (English Language Learners) in Science (grades 3-5) in ed-Connect. Using

Name	Position	Location	Effective Date	Salary	Funding Source
Allison Cordivari	LAL Coach	LAS	07/15/15	\$ 30.00 per for	NCLB Title III funds account
				15 hours not to	# 20-241-200-100-0000-545.
				exceed \$450.00	
Faith Penrose	Teacher	WAS	07/15/15	\$ 30.00 per for	NCLB Title III funds account
				15 hours not to	# 20-241-200-100-0000-545.
				exceed \$450.00	

27. Be it Resolved, that the Pleasantville Board of Education approve 2 teachers to work to research and include scaffolds, supports and resources for ELLs (English Language Learners) in Social Studies (grades 3-5) in Ed-Connect.

Name	Position	Location	Effective Date	Salary	Funding Source
Victoria Williamson	Teacher	MSP	07/15/15	15 hours each at \$30.00 an hour not to \$ 450.00	NCLB Title III funds account # 20-241-200-100-0000-545.
Susana Faulhaber	Teacher	MSP	17/15/15	15 hours each at \$30.00 an hour not to \$ 450.00	NCLB Title III funds account # 20-241-200-100-0000-545.

28. Be it Resolved, that the Pleasantville Board of Education approve The High School CST to sponsor an expo "Life Beyond High School" on Tuesday July 14th from 9am-12:00pm at Pleasantville High School. The expo will include community agencies that could be of assistance to students with disabilities as they exit high school. This expo is open to the district's special education population and their families. Deneen McQueen and Virginia Baralus will coordinate the expo.

29. Be it Resolved, that the Pleasantville Board of Education approve 2 teachers to work to research and include scaffolds, supports and resources for ELA for the English Language Learners (ELLs) grades (9-12) using Engage NY ELA into the ed-Connect curriculum portal for Level C ESI.

Name	Position	Location	Effective Date	Salary	Funding Source
Daniel Emmert	Teacher	PHS	07/15/15	15 hours each at \$30.00 an hour not to \$ 450.00	NCLB Title III account 20-240-200-100-0000-545.
Constance Days	Teacher	PHS	07/15/15	15 hours each at \$30.00 an hour not to \$ 450.00	NCLB Title III account 20-240-200-100-0000-545.

**30.** Be it Resolved, that the Pleasantville Board of Education approve 2 teachers to work beginning July 15, 2015 through August 31, 2015 to research and include scaffolds, supports and resources for Science for the English Language Learners (ELLs) grades (6-8) using Engage NY ELA into the ed-Connect curriculum portal.

Name	Position	Location	Effective Date	Salary	Funding Source
Daryl Ramsey	Teacher	MSP	07/15/15 08/31/15	20 hours each at \$30.00 an hour not to exceed \$600.00	NCLB Title III account 20-240-200-100-0000-545
Janet Bravo	Teacher	MSP	07/15/15 08/31/15	20 hours each at \$30.00 an hour not to exceed \$600.00	NCLB Title III account 20-240-200-100-0000-545

31. Be it Resolved, that the Pleasantville Board of Education approve 2 teachers to work beginning July 15, 2015 through August 31, 2015 to research and include scaffolds, supports and resources for Math for the English Language Learners (ELLs) grades (6-8) using Engage NY ELA into the Ed-Connect curriculum portal.

Name	Position	Location	Effective Date	Salary	Funding Source
Daryl Ramsey	Teacher	MSP	07/15/15 08/31/15	15 hours each at \$ 30.00 per hour not to exceed \$ 450.00	NCLB Title III account 20-240-200-100-0000-545
Sara Gonzalez	Teacher	MSP	07/15/15 08/31/15	15 hours each at \$ 30.00 per hour not to exceed \$ 450.00	NCLB Title III account 20-240-200-100-0000-545

**32.** Be it Resolved, that the Pleasantville Board of Education approve 8 teachers to work each to research and include scaffolds, supports and resources in a curriculum for extended day for English Language Learners. This team will create unique language experiences to be used for instruction for the After School English Language Academy for grades (K-12).

Name	Position	Location	Effective Date	Salary	Funding Source
Michael Zain	Teacher	WAS	07/15/15	15 hours at \$ 30.00 per hour not to exceed \$ 450.00	NCLB Title III account 20-240-200-100-0000-545.
Jessica Gaeckle	Teacher	WAS	07/15/15	15 hours at \$ 30.00 per hour not to exceed \$ 450.00	NCLB Title III account 20-240-200-100-0000-545.
Janet Bravo	Teacher	WAS	07/15/15	15 hours at \$ 30.00 per hour not to exceed \$ 450.00	NCLB Title III account 20-240-200-100-0000-545.
Faith Penrose	Teacher	WAS	07/15/15	15 hours at \$ 30.00 per hour not to exceed \$ 450.00	NCLB Title III account 20-240-200-100-0000-545.
Cynthia McClendon	Teacher	WAS	07/15/15	15 hours at \$ 30.00 per hour not to exceed	NCLB Title III account 20-240-200-100-0000-545.

Name	Position	Location	Effective Date	Salary	Funding Source
				\$ 450.00	
Rene Gensamer	Teacher	WAS	07/15/15	15 hours at \$ 30.00 per hour not to exceed \$ 450.00	NCLB Title III account 20-240-200-100-0000-545.
Hernando VIIIafañe	Teacher	WAS	07/15/15	15 hours at \$ 30.00 per hour not to exceed \$ 450.00	NCLB Title III account 20-240-200-100-0000-545.
Sanjuana Parmer	Teacher	WAS	07/15/15	15 hours at \$ 30.00 per hour not to exceed \$ 450.00	NCLB Title III account 20-240-200-100-0000-545.

- **33.** Be it Resolved, that the Pleasantville Board of Education approve The Association for Language Arts Teachers of New Jersey Limited to provide professional development training to certificated and support staff members. The Three (3) Day classroom training will focus on improving reading comprehension and creating better writers. The workshops will be presented on August 24th, 26th, and 28th. The cost of the training not to exceed \$6,600, utilizing account # 11-000-221-320-0000-234.
- **34.** Be it Resolved, that the Pleasantville Board of Education approve to enter into a contract with MAPS101 for one year for students in K-12. Maps 101 provides resources for Social Studies, Language Arts, Earth and Environmental Sciences, Spanish Language, World Cultures, Current Events, and SPED. The district license to Maps 101 for six schools is \$3,294.00 utilizing account #11-190-100-500-0000-234.
- **35.** Be it Resolved, that the Pleasantville Board of Education approve Mr. Aaron Washington, MSP Technology Coordinator, for summer hours to complete the following items listed below:

#### **PERFORMANCE RESPONSIBLITIES:**

- > Ensure coordination of all current technology hardware and software programs
- Provide implementation of the MSP technology plan, submit requisitions for new hardware/software based upon the district technology plan and the school improvement plan.
- > Obtain and organize data from the school information system that assists in student placement, and class scheduling
- > Assist in the implementation of the AIE Grant
- > Provide student information to web-based instructional programs
- > Act as a resource to the building principal to promote student and teacher growth
- Assist in professional development workshops
- Work closely with district and building personnel to ensure preparedness for day one operations
- > Coordinate parental technology workshops to increase parental involvement
- Coordinate data and technology support for the MSP Avid Academy
- > Provide support in preparation of 6th grade orientation
- Assist district technology department preparing students/teacher desktops and laptop carts for upcoming school year.
- Work with district data personnel for the implementation IEP direct.

Name	Position	Location	Effective Date	Salary	Funding Source
Mr. Aaron	Technology	MSP	July 15 - August 31, 2015	\$30.00 per hour	15-130-100-101-0000-055
Washington	Coordinator			(80 hours max)	
				not to exceed	
				\$2,400.00	

**36.** Be it Resolved, that the Pleasantville Board of Education approve the following curriculum units as collaboratively completed by the C&I Department and the content area teachers and reviewed by the Regional Achievement Centers 7 (RAC7).

Curriculum Units (courses)	
Kindergarten	Earth Science - Weather
Kindergarten	Life Science - Animal Habitats
Kindergarten	Life Science - Plants
Kindergarten	Motion and Forces
Kindergarten	Properties of Matter
Grade 1	Physical Science - Properties of Matter
Grade 1	Life Science - Animals
Grade 1	Life Science - Plants
Grade 1	Earth Science - The Solar System
Grade 1	Earth Science -Weather
Grade 1	Physical Science - Motion, Forces & Energy
Grade 1	Earth Science - Earth's Composition
Grade 2	Earth Science- Earth's Composition
Grade 2	Earth Science - Our Solar System
Grade 2	Life Science - Ecosystems
Grade 2	Physical Science - Motion, Forces & Energy
Grade 2	Life Science - Needs of Organisms
Grade 2	Physical Science - Principles of Matter
Grade 3	Earth Science - The Solar System
Grade 3	Physical Science - Motion, Forces and Energy
Grade 3	Physical Science - Properties of Matter
Grade 3	Earth Science - Earth's Composition
Grade 3	Life Science - Ecosystems
Grade 3	Life Science - Animals
Grade 3	Life Science - Plants
Grade 3	Earth Science - Weather
Grade 4	Earth Science - The Solar System
Grade 4	Earth Science - Weather
Grade 4	Life Science - Ecosystems
Grade 4	Life Science - Human Body Systems
Grade 4	Life Science - Structures of Living Things
Grade 4	Physical Science - Forms of Energy
Grade 4	Physical Science - Motion, Forces & Energy

Grade 4 Physical Science - Properties of Matter Grade 5 Applying the Scientific Method Grade 5 Earth Science - Earth's Composition Grade 5 Life Science - Cells and Body Systems Grade 5 Life Science - Plants and Animals Grade 5 Physical Science - Motion, Forces & Energy Grade 5 Physical Science - Properties of Matter Grade 5 Life Science - Ecosystems Grade 6 Unit 1 - Investigating Weather Grade 6 Unit 2 - Investigating Geological Processes Grade 6 Unit 4 - Investigating the Solar System Grade 7 Unit 1 - Investigating the Nature of Living Things
Grade 5
Grade 5 Life Science - Cells and Body Systems  Life Science - Plants and Animals  Grade 5 Physical Science - Motion, Forces & Energy  Grade 5 Physical Science - Properties of Matter  Grade 5 Life Science - Ecosystems  Grade 6 Unit 1 - Investigating Weather  Grade 6 Unit 2 - Investigating Geological Processes  Grade 6 Unit 3 - Investigating Earth Systems  Grade 6 Unit 4 - Investigating the Solar System
Grade 5 Life Science - Plants and Animals  Physical Science - Motion, Forces & Energy  Grade 5 Physical Science - Properties of Matter  Grade 5 Life Science - Ecosystems  Grade 6 Unit 1 - Investigating Weather  Grade 6 Unit 2 - Investigating Geological Processes  Grade 6 Unit 3 - Investigating Earth Systems  Grade 6 Unit 4 - Investigating the Solar System
Grade 5 Physical Science - Motion, Forces & Energy Grade 5 Physical Science - Properties of Matter Grade 5 Life Science - Ecosystems Grade 6 Unit 1 - Investigating Weather Grade 6 Unit 2 - Investigating Geological Processes Grade 6 Unit 3 - Investigating Earth Systems Grade 6 Unit 4 - Investigating the Solar System
Grade 5 Physical Science - Properties of Matter  Grade 5 Life Science - Ecosystems  Grade 6 Unit 1 - Investigating Weather  Grade 6 Unit 2 - Investigating Geological Processes  Grade 6 Unit 3 - Investigating Earth Systems  Grade 6 Unit 4 - Investigating the Solar System
Grade 5  Grade 6  Unit 1 - Investigating Weather  Grade 6  Unit 2 - Investigating Geological Processes  Grade 6  Unit 3 - Investigating Earth Systems  Grade 6  Unit 4 - Investigating the Solar System
Grade 6 Unit 1 - Investigating Weather  Grade 6 Unit 2 - Investigating Geological Processes  Grade 6 Unit 3 - Investigating Earth Systems  Grade 6 Unit 4 - Investigating the Solar System
Grade 6 Unit 2 - Investigating Geological Processes  Grade 6 Unit 3 - Investigating Earth Systems  Grade 6 Unit 4 - Investigating the Solar System
Grade 6 Unit 3 - Investigating Earth Systems  Grade 6 Unit 4 - Investigating the Solar System
Grade 6 Unit 4 - Investigating the Solar System
Grade / Grant 1 investigating the reactive of civing Trinigs
Grade 7 Unit 2 - Investigating Human Body
The state of the s
Time 1 introdugating Endopted of Change
Grade 7 Unit 5 - Investigating Ecology
Grade 8 Unit 1 - Investigating Forces and Motion
Grade 8 Unit 2 - Investigating Energy and Waves
Grade 8 Unit 3 - Basic Chemistry
Grade 8 Unit 4 - Advanced Chemistry
Biology (High School) Unit 1- Scientific Methods and Skills
Biology (High School) Unit 2- Cells and Molecules
Biology (High School) Unit 3-Energy Transformations and Ecosystems
Biology (High School) Unit 4- Recombinant DNA and Heredity
Biology (High School) Unit 5- Evolution and Natural Selection
Integrated Science (High School) Unit 1: Introduction to Science
Integrated Science (High School) Unit 2: Introduction to Matter/Chemistry
Integrated Science (High School) Unit 3: INTRODUCTION TO PHYSICS
Integrated Science (High School) Unit 4: EARTH AND ENVIRONMENTAL SCIENCE
Integrated Science (High School) Unit 5: INTRODUCTION TO LIFE SCIENCE/BIOLOGY
Physics (High School)  Unit 1-How do authors develop and relate elements of a text?
High School Chemistry
Physics (High School) Unit 2- Motion
Physics (High School) Unit 3-Energy
Physics (High School) Unit 4-Waves (Sound and Light)
Physics (High School) Unit 5- Electricity and Magnetism
Creative and Performing Arts Introduction to Drama
Drama I
Drama II

	Advance Drama
Middle School	Choir
Middle School	Band
High School	Choir
High School	Concert Choir
High School	Band
High School	Jazz Band
High School	Advanced Choir
High School	Music Appreciation
High School	Music Theory
High School	Musical Theater
High School	Piano Keyboarding I
High School	Piano Keyboarding II
High School	Piano Keyboarding III
High School	Art I Traditional
High School	Art II Traditional
High School	Art I Digital arts and Interactive Computing
High School	Art II Digital arts and Interactive Computing
High School	Studio Arts

37. Be it Resolved, that the Pleasantville Board of Education approve the advanced placement (AP) teachers to receive a stipend to write/revise AP curriculum. Beginning July 15, 2015 and ending August 28, 2015 at a rate of \$30.00 per hour not to exceed a total of \$2,100.00 utilizing account #15-422-100-100-0000-050. PHS – CURRICULUM WRITING FOR ADVANCE PLACEMENT (AP) CURRICULUM:

Name	Position	Location	Effective Date	Salary	Funding Source
Lisa Betty	Teacher - Calculus	PHS	July 15, 2015 -	\$30 per hr. (not to	15-401-100-100-0000-050
		<u> </u>	August 28, 2015	exceed \$150)	
Kellie Carman-Davis	Teacher - French	PHS	July 15, 2015 –	\$30 per hr. (not to	15-401-100-100-0000-050
			August 28, 2015	exceed \$150)	·
Anne Hughes	Teacher – History	PHS	July 15, 2015 –	\$30 per hr. (not to	15-401-100-100-0000-050
			August 28, 2015	exceed \$150)	
Susan Johnston	Teacher – English	PHS	July 15, 2015 –	\$30 per hr. (not to	15-401-100-100-0000-050
			August 28, 2015	exceed \$150)	
Jonathan Howell	Teacher –Statistics	PHS	July 15, 2015 –	\$30 per hr. (not to	15-401-100-100-0000-050
			August 28, 2015	exceed \$150)	
James Nagbe	Teacher	PHS	July 15, 2015 –	\$30 per hr. (not to	15-401-100-100-0000-050
	Chemistry		August 29, 2015	exceed \$150)	
Jonathan Polhemus	Teacher – Biology	PHS	July 15, 2015 –	\$30 per hr. (not to	15-401-100-100-0000-050
			August 29, 2015	exceed \$150)	

**38.** Be it Resolved, that the Pleasantville Board of Education approve a summer S.T.E.M. program to support and raise the academic achievement of students in grades 8-12. Courses will run for three (3) weeks and will consist of two (2) two-hour courses that will focus on science, technology, engineering, and mathematics

and a two week course focusing on S.T.E.M. robotics with Dr. Basilyn Bunting. Dr. Bunting will teach 30-35 students for 2 weeks not to exceed \$3,000.00. It will be held at PHS Monday-Thursday from 8am - 12pm and breakfast and lunch will be provided to all students that attend. The total cost for this program is not to exceed \$17,500.00. Funding Source #15-100-100-0000-050.

Name	Position	Location	Effective Date	Salary	Funding Source
William Burch	Teacher – Careers	PHS	July 15, 2015 –	\$45 per hr. not to	20-231-100-106-0000-545
	in S.T.E.M.		August 14, 2015	exceed 72 hours	(2015-2016 Title I)
				(\$3,240.00)	
Eric Clark	Teacher – Math	PHS	July 15, 2015	\$45 per hr. not to	20-231-100-106-0000-545
	and Technology		August 14, 2015	exceed 72 hours	(2015-2016 Title I)
				(\$3,240.00)	
Sara Bailey	Teacher –Science	PHS	July 15, 2015 –	\$45 per hr. not to	20-231-100-106-0000-545
			August 14, 2015	exceed 72 hours	(2015-2016 Title I)
				(\$3,240.00)	,
Lynn McKnight	Teacher - Math	PHS	July 15, 2015 –	\$45.00 per hour	20-231-100-106-0000-545
			August 14, 2015	not to exceed 72	(2015-2016 Title I)
				hours	,
				(\$3,240.00)	
Karen Hooker	One-on-One Aide	PHS	July 15, 2015 -	\$30.00 per hour	20-231-100-106-0000-545
			August 14, 2015	not to exceed 72	2015-2016 Title I
<u>}</u>				hours	
				(\$1,440.00)	

39. Be it Resolved, that the Pleasantville Board of Education five team members –Kelsey Wiemer, Michelle Everett, Nicole McNeal, Pamela Alleyne, Constance A. Days- involved in the "Deeper Readers, Better Readers Initiative", as per Pleasantville High School's School Improvement Plan (SIP), for summer work that will be ongoing throughout the school year. This team will design and monitor one reading-research project and exhibition, create calendar of monthly literacy events, plan and attend two community/parent literacy nights, provide 2 in-house staff PDs on literacy circles, create literacy atmosphere (bulletin boards, reading centers, student /teacher reading challenges), assist in the implementation of the literacy plan, attend two after school meetings per month, monitor and publish literacy achievement data, beginning with summer planning at 4 hour hours per day, 4 days per week for the month of August, and two meetings/planning per month and work sessions per month not to exceed 10 hours per month total from September to June. Funding Source # 20-231-200-100-0000-545 (2015-2016 SIP Title I)

PHS - "Deeper Readers, Better Readers Initiative" – Pleasantville High School's 2015-2016 School Improvement Plan (SIP).

Name	Position	Location	Effective Date	Salary	Funding Source
Kelsey Wiemer	Teacher	PHS	August 1, 2015- June 30- 2016	\$30.00 per hour not to exceed 164 hours (\$4,920)	20-231-200-100-0000-545 (2015-2016 SIP Title I)
Michelle Everett	Teacher	PHS	August 1, 2015- June 30- 2016	\$30.00 per hour not to exceed 164 hours (\$4,920)	20-231-200-100-0000-545 (2015-2016 SIP Title I)
Nicole McNeal	Teacher	PHS	August 1, 2015- June 30- 2016	\$30.00 per hour not to exceed 164 hours (\$4,920)	20-231-200-100-0000-545 (2015-2016 SIP Title I)

Name	Position	Location	Effective Date	Salary	Funding Source
Pamela Alleyne	Librarian/ Media Specialist	PHS	August 1, 2015- June 30- 2016	\$30.00 per hour not to exceed 164 hours (\$4,920)	20-231-200-100-0000-545 (2015-2016 SIP Title I)
Constance A. Days	Academic Coach	PHS	August 1, 2015- June 30- 2016	\$30.00 per hour not to exceed 164 hours (\$4,920)	20-231-200-100-0000-545 (2015-2016 SIP Title I)

**40.** Resolution to approve the nine (9) department heads to receive a stipend for professional development and department preparation beginning July 15, 2015 and ending August 28, 2015 at a rate of \$30.00 per hour not to exceed a total of \$5,400 utilizing account #15-422-100-100-0000-050.

# PHS- SUMMER PROFESSIONAL DEVELOPMENT AND DEPARTMENT HEADS PREPARATION:

Name	Position	Location	Effective Date	Salary	Funding Source
Sara Bailey	Teacher – Science	PHS	July 15, 2015 – August 28, 2015	\$30.00 per hour not to exceed 20 hours (\$600.00)	15-422-200-100-0000-050
Lindsey Marchesani	Teacher - Math	PHS	July 15, 2015 – August 28, 2015	\$30.00 per hour not to exceed 20 hours (\$600.00)	15-422-200-100-0000-050
Tracy Boswell	Teacher – Arts/Business	PHS	July 15, 2015 – August 28, 2015	\$30.00 per hour not to exceed 20 hours (\$600.00)	15-422-200-100-0000-050
Kellie Carman-Davis	Teacher – World Language	PHS	July 15, 2015 – August 28, 2015	\$30.00 per hour not to exceed 20 hours (\$600.00)	15-422-200-100-0000-050
Nicole McNeal	Teacher – Special Education	PHS	July 15, 2015 – August 28, 2015	\$30.00 per hour not to exceed 20 hours (\$600.00)	15-422-200-100-0000-050
Kelsey Wiemer	Teacher – Social Studies	PHS	July 15, 2015 – August 28, 2015	\$30.00 per hour not to exceed 20 hours (\$600.00)	15-422-200-100-0000-050
Josephine Troy	Teacher – English	PHS	July 15, 2015 – August 28, 2015	\$30.00 per hour not to exceed 20 hours (\$600.00)	15-422-200-100-0000-050
Cynthia McClendon	Teacher – ESL	PHS	July 15, 2015 – August 28, 2015	\$30.00 per hour not to exceed 20 hours (\$600.00)	15-422-200-100-0000-050
Ronald Tuzcak	Teacher – JROTC	PHS	July 15, 2015 – August 28, 2015	\$30.00 per hour not to exceed 20 hours (\$600.00)	15-422-200-100-0000-050

41. Be it Resolved, that the Pleasantville Board of Education approve a summer Credit Completion program to give students with nine (9) to sixteen (16) absences an opportunity to receive credit for PHS courses. Program will run for one (1) week, two (2) sessions, and four (4) hours per session from July 6, 2015 to July 30. The total cost for this program is not to exceed \$7,200.00. Funding Source #15-422-100-100-0000-050. PHS SUMMER CREDIT COMPLETION PROGRAM:

1 110 001	THO COMMENT OWN FEET OWN ROCKAWI.							
Name	Position	Location	Effective Date	Salary	Funding Source			
Josephine Troy	Teacher	PHS	July 6, 2015 – July 30, 2015	\$45.00 per hour not to exceed 32 hours (\$1,440.00)	15-422-100-100-0000-050			

Catherine Stanley	Teacher	PHS	July 6, 2015 – July 30, 2015	\$45.00 per hour not to exceed \$1,440.00	15-422-100-100-0000-050
James Hutton	Teacher	PHS	July 6, 2015 – July 30, 2015	\$45.00 per hour not to exceed \$1,440.00	15-422-100-100-0000-050
Elizabeth Dubose	Teacher	PHS	July 6, 2015 – July 30, 2015	\$45.00 per hour not to exceed \$1,440.00	15-422-100-100-0000-050
Lindsey Marchesani	Teacher	PHS	July 6, 2015 – July 30, 2015	\$45.00 per hour not to exceed \$1,440.00	15-422-100-100-0000-050

## 42. PHS SUMMER CREDIT RECOVERY PROGRAM

Name	Position	Location	Effective Date	Salary	Funding Source
Josephine Troy	Teacher	PHS	July 6, 2015 – August 30, 2015	\$45.00 per hour not to exceed 77 hours (\$3,500.00)	15-422-100-100-0000-050
Catherine Stanley	Teacher	PHS	July 6, 2015 – August 30, 2015	\$45.00 per hour not to exceed 77 hours (\$3,500.00)	15-422-100-100-0000-050
James Hutton	Teacher	PHS	July 6, 2015 – August 30, 2015	\$45.00 per hour not to exceed 77 hours (\$3,500.00)	15-422-100-100-0000-050
Elizabeth Dubose	Teacher	PHS	July 6, 2015 – August 30, 2015	\$45.00 per hour not to exceed 77 hours (\$3,500.00)	15-422-100-100-0000-050
Lindsey Marchesani	Teacher	PHS	July 6, 2015 – August 30, 2015	\$45.00 per hour not to exceed 77 hours (\$3,500.00)	15-422-100-100-0000-050

**43.** Be it Resolved, that the Pleasantville Board of Education approve the five (5) members of the PHS's Data Team to receive a stipend for thirty-two (32) hours per person to disaggregate data beginning July 1, 2015 and ending August 28, 2015 at a rate of \$30.00 per hour not to exceed a total of \$4,800.00 utilizing account #15-422-100-100-0000-050.

#### PHS DATA TEAM:

Name	Position	Location	Effective Date	Salary	Funding Source
Grizilda Flores	Teacher	PHS	July 15, 2015 – August 28, 2015	\$30 per hour not to exceed 32 hours (\$960.00)	15-422-100-100-0000-050
Jonathan Howell	Teacher	PHS	July 15, 2015 – August 28, 2015	\$30 per hour not to exceed 32 hours (\$960.00)	15-422-100-100-0000-050
Dale Sheridan	Technology Coordinator	PHS	July 15, 2015 – August 28, 2015	\$30 per hour not to exceed 32 hours (\$960.00)	15-422-100-100-0000-050

Robyn LaTorre	Teacher	PHS	July 15, 2015 – August 28, 2015	\$30 per hour not to exceed 32 hours (\$960.00)	15-422-100-100-0000-050
Lindsey Marchesani	Teacher	PHS	July 15, 2015 – August 28, 2015	\$30 per hour not to exceed 32 hours (\$960.00)	15-422-100-100-0000-050

44. Be it Resolved, that the Pleasantville Board of Education approve supplemental stipend for six team members of *PBSIS* initiative involved in planning professional development for the staff and students, update the Code of Conduct to reflect current discipline infractions and PBSIS recommendations, create a monthly and yearly calendar for fundraising activities, celebrations and recognition system for PBSIS initiative for the 2015-2016 school year, beginning July 1, 2015 and ending August 29, 2015 at a rate of \$30.00 per hour not to exceed a total of 5,760 utilizing account #15-422-100-100-0000-050.

PHS - PBSIS 2015-2016 INITIATIVES: Positive Behavioral Support in Schools

Name	Position	Location	Effective Date	Salary	Funding Source
Angelika Sims	Dean of Discipline	PHS	July 15, 2015 – August 29, 2015	\$30 per hour not to exceed 32 hours (\$960.00)	15-422-100-100-0000-050
Catherine Stanley	Teacher	PHS	July 15, 2015 – August 29, 2015	\$30 per hour not to exceed 32 hours (\$960.00)	15-422-100-100-0000-050
Robyn La-Tore	Teacher	PHS	July 15, 2015 – August 29, 2015	\$30 per hour not to exceed 32 hours (\$960.00)	15-422-100-100-0000-050
Tracy Boswell	Teacher	PHS	July 15, 2015 – August 29, 2015	\$30 per hour not to exceed 32 hours (\$960.00)	15-422-100-100-0000-050
Cynthia McClendon	Teacher	PHS	July 15, 2015 – August 29, 2015	\$30 per hour not to exceed 32 hours (\$960.00)	15-422-100-100-0000-050
Vernon Beard	Instructional Aide	PHS	July 15, 2015 – August 29, 2015	\$30 per hour not to exceed 32 hours (\$960.00)	15-422-100-100-0000-050

45. Be it Resolved, that the Pleasantville Board of Education approve to compensate the following coaches for completed work that was approved on the April 28th, 2015 board agenda. The work project #2 referred to: The middle school science opted to use the Howard County science curricula as a basis for revisions to the science progression at their level, per their principal. This will focus on earth science at the 6th grade level, life science at the 7th grade level, and physical science at the 8th grade level.
They worked to outline the first pages of all units and will fill in related areas during our next session. The high school teachers worked on environment science, physics, and biology. We need some additional support for principles of science and chemistry. Work project #2 is now completed. Deadline is extended to July 20th, 2015 utilizing account # 11-000-221-104-0000-234. Allison Cordivari, Sara Bailey, George Murray, Jeffrey Laster, Lindsey Marchisani, Kaisha Medina, Daryl Ramsey and Christen Teeney.

**46.** Be it Resolved, that the Pleasantville Board of Education approve the following work to be completed for Special Education modifications /accommodations, and research resources to support the instructional needs in Mathematics for students in grades (K-12). Instructional Resources will be uploaded in edConnect. There will be a team of 6 teachers to complete the mathematics modifications/accommodations. Each teacher will be paid at a rate of \$30 an hour not to exceed 15 hours. The total cost for the work provided will not exceed \$2,700. Effective dates are July 15th- August 30th.

Name	Position	Location	Effective Date	Salary	Funding Source
Matthew Barnard	Teacher	NMSS	07/15/15 08/30/15	\$30 per hour for 15 hours not to exceed \$450.00	11-000-221-104-0000-234
Jenifer Martinez	Teacher	SMSS	07/15/15 08/30/15	\$30 per hour for 15 hours not to exceed \$450.00	11-000-221-104-0000-234
Donna Champion	Teacher	MSP	07/15/15 08/30/15	\$30 per hour for 15 hours not to exceed \$450.00	11-000-221-104-0000-234
Nicola Tasoff	Teacher	MSP	07/15/15 08/30/15	\$30 per hour for 15 hours not to exceed \$450.00	11-000-221-104-0000-234
Carla Ropiecka-Block	Teacher	PHS	07/15/15 08/30/15	\$30 per hour for 15 hours not to exceed \$450.00	11-000-221-104-0000-234
Victoria Williamson	Academic Coach	C&I	07/15/15 08/30/15	\$30 per hour for 15 hours not to exceed \$450.00	11-000-221-104-0000-234

**47.** Be it Resolved, that the Pleasantville Board of Education approve the following work to be completed for Special Education modifications /accommodations, and research resources to support the instructional needs in English Language Arts for students in grades (K-12). Instructional Resources will be uploaded in edConnect. There will be a team of 6 teachers to complete the ELA modifications/accommodations. Each teacher will be paid at a rate of \$30 an hour not to exceed 15 hours. The total cost for the work provided will not exceed \$2,700. Effective dates are July 15th- August 30th.

Name	Position	Location	Effective Date	Salary	Funding Source
Sylvia Stephens	Teacher	WAS	07/15/15 08/30/15	\$30 per hour for 15 hours not to exceed \$450.00	11-000-221-104-0000-234
Lisa Yaccarino	Teacher	MSP	07/15/15 08/30/15	\$30 per hour for 15 hours not to exceed \$450.00	11-000-221-104-0000-234

Jeanette Reed	Teacher	MSP	07/15/15 08/30/15	\$30 per hour for 15 hours not to exceed \$450.00	11-000-221-104-0000-234
Barbara Potter	Teacher	PHS	07/15/15 08/30/15	\$30 per hour for 15 hours not to exceed \$450.00	11-000-221-104-0000-234
Elizabeth Dubois	Teacher	PHS	07/15/15 08/30/15	\$30 per hour for 15 hours not to exceed \$450.00	11-000-221-104-0000-234
Victoria Williamson	Academic Coach	C&I	07/15/15 08/30/15	\$30 per hour for 15 hours not to exceed \$450.00	11-000-221-104-0000-234

48. Be it Resolved, that the Pleasantville Board of Education approve the JROTC Instructors to receive a stipend to fulfill the requirements of the program per the Department of the Army and Pleasantville School District agreement. The instructors will be responsible for completing the following: Develop Annual Master Training Schedule for upcoming school year required by cadet Command; Issue and turn in equipment at Ft. Dix; Prepare for Government Credit Card Audit; Requisition new uniforms and books for the upcoming school year. Attend Cadet Command Conferences in August; Conduct 100% inventory of equipment: Submit end of year report to Cadet Command; Re-certify in Government Credit Card; turn in uniforms to cleaners; prepare, attend, and close out Summer Camp for twenty five (25)students held in New York, Camp dates are June 27, 2015 from 5:00pm-10:00pm daily. Purge records for turn-in; establish new cadet packets. Ninth grade orientation. Complete Cadet Commands Professional Development requirements to maintain certifications as JROTC instructor. Last week in August receive uniforms from cleaners. Update JUMS (automated supply and admin). Prepare students for his/her leadership positions in upcoming school year. ISG White Attend JROTC School Cadet Command (JSOCC) training at Ft. Knot, Kentucky in August. Each JROTC instructor will be paid a per diem rate not to exceed a total of \$ 15,000.00 utilizing account # 15-140-100-101-0000-050 and # 20-459-100-101-0000-547 (Superintendent Approved 6/23/15).

JROTC Instructors:

Name	Position	Location	Effective Date	Salary	Funding Source
Ronald Tuczak	JROTC Instructor	PHS	07/01/15 08/31/15 21 days At a per diem rate	\$ 7, 408.00	15-140-100-101-0000-050
Larry White	JROTC Instructor	PHS	07/01/15 08/31/15 21 days At a per diem rate	\$ 7, 333.00	20-459-100-101-0000-547 2013-2014 JROTC Grant

#### Motion to approve C & I Items 1-48.

MOTION BY: Mrs. Ethel Seymore SECOND BY: Mrs. Bernice (Sandy) Couch Yea: X ROLL CALL: Mrs. Bernice (Sandy) Couch Yes Ms. Silvia Landron Yes Mr. Johnny McClellan Yes Mr. Paul Moore <u>Yes</u> Ms. Sharnell Morgan Absent Ms. Elysa Sanchez Yes Ms. Ethel Seymore Yes Ms. Carla Thomas Yes Mr. Lawrence A. Davenport Yes **MOTION PASSED** 

### APPROVED BY THE SUPERINTENDENT AND STATE MONITOR 07/14/2015 NO ACTION REQUIRED:

#### -1. Activities

School/Program	Activity	<del>Date</del>	Cost	Account#	Time/Purpose
PHS	Miss New Jersey 2014	<del>02/17/15</del>	\$ 400.00 Superintendent Approved 6/23/45	Student Activity Account # 0531	10:00am-2:00pm Motivational Speaker

11.	Motion to go into Executive Session		
	Motion by: <u>Mrs. Ethel Seymore</u>	Second by: _	Ms. Silvia Landron

#### 12. Executive Session

Motion by Mrs. Ethel Seymore and Seconded by Ms. Silvia Landron at 7:50 p.m., it is hereby resolved that the Pleasantville Board of Education may go into closed or private session from which the public shall be excluded in accordance with the provisions as set forth in N.J.S.A. 10:4-12 and 10:4-13. The following subjects shall be discussed on this date in the session of the Board closed to the public: PERSONNEL, PUPIL MATTERS, PENDING, AND ANTICIPATED LITIGATION. BE IT FURTHER RESOLVED that the discussion in closed session will be disclosed to the public at this time or a future meeting of the Board when it is no longer necessary to maintain the confidential nature of the items discussed.

Mr. Paul Moore, Jr. left Board Meeting during Executive Session.

Mr. Johnny McClellan left Board Meeting during Executive Session.

13. Motion to come out of Executive Session

Motion by: Mrs. Ethel Seymore		Second by:	Ms. Silvia La	ndron	Yea: X
ROLL CALL:		•			
Mrs. Bernice (Sandy) Couch	Yes				
Ms. Silvia Landron	Yes				
Mr. Johnny McClellan	Absent				
Mr. Paul Moore	Absent				
Ms. Sharnell Morgan	Absent				
Ms. Elysa Sanchez	Yes				
Ms. Ethel Seymore	Yes				
Ms. Carla Thomas	Yes				
Mr. Lawrence A. Davenport	Yes				
MOTION PASSED					

14. Reconvene Board Meeting at 9:41

Motion to approve Human Resource Items and Human Resource Addendum, with the exception of #1 (Tabled), #2 (Tabled), #10 (Pulled), 5th name, 9th name and 12th name under Item# 22 (Tabled) from original agenda. Superintendent to negotiate salary line item under Item #12.

MOTION BY: Mrs. Carla Thomas	Second By: Ms. Silvia Landron	Yea: <u>X</u>
ROLL CALL:  Ms. Bernice (Sandy) Couch Ms. Silvia Landron Mr. Johnny McClellan Mr. Paul Moore, Jr. Ms. Sharnell S. Morgan Ms. Elysa Sanchez Mrs. Ethel Seymore Ms. Carla Thomas Mr. Lawrence A. Davenport MOTION PASSED		

**WHEREAS**, the Board had previously accepted the Superintendent's recommendation that Patrick Howard not be renewed for the 2015-2016 school year; and

WHEREAS, upon further investigation of the facts concerning his attendance; and

WHEREAS, the Board has determined that the issue can be resolved without the necessity of terminating him;

IT IS THEREFORE, RESOLVED that the prior decision not to renew Mr. Howard for the 2015-2016 school year is reversed and he is permitted to continue as a District Employee.

MOTION BY: <u>Mrs. Carla Thon</u>	nas	SECOND BY: <u>Ms. Silvia Landron</u>	Yea: <u>X</u>
ROLL CALL: Ms. Bernice (Sandy) Couch	Yes	_	
Ms. Silvia Landron	<u>Yes</u>		
Mr. Johnny McClellan	<u>Absent</u>	_	
Mr. Paul Moore, Jr.	<u>Absent</u>	· _	
Ms. Sharnell S. Morgan	Absent	_	
Ms. Elysa Sanchez	Yes	_	
Mrs. Ethel Seymore	Yes	_	
Ms. Carla Thomas	Yes		
Mr. Lawrence A. Davenport	Yes	<del>-</del>	
MOTION PASSED		-	

Mr. Darryl Rhone, Board Attorney, discussed the Superintendent's Search, pricing and recommended the adoption of the following Resolution:

**Be it Resolved**, that the Pleasantville Board of Education authorizes the engagement of the NJ School Boards Association at a rate of \$6,850.00 for services which will assist the Board in completing the Superintendent Search. This shall include meeting with Board to establish search goals and criteria, candidate screening, and ensuring the overall legality and integrity of the search with the understanding that the ultimate selection of the candidate shall remain with Pleasantville Board of Education.

MOTION BY: Mrs. Carla Tho	mas	SECOND BY:	Ms. Silvia Landron	Yea	a:_ <u>X</u>
ROLL CALL: Ms. Bernice (Sandy) Couch Ms. Silvia Landron Mr. Johnny McClellan Mr. Paul Moore, Jr. Ms. Sharnell S. Morgan Ms. Elysa Sanchez Mrs. Ethel Seymore Ms. Carla Thomas Mr. Lawrence A. Davenport	Yes Yes Absent Absent Yes Yes Yes Yes Yes	-	ivis. Gilvia Landion		7. <u>^</u>
MOTION PASSED	100	•			

15. Motion to Adjourn the Meeting at 9:50p.m.

MOTION BY: Mrs. Carla Thomas

SECOND BY: Ms. Silvia Landron

Yea: X

**ROLL CALL:** 

Ms. Bernice (Sandy) Couch <u>Yes</u> Ms. Silvia Landron Yes Mr. Johnny McClellan Absent Mr. Paul Moore, Jr. Absent Ms. Sharnell S. Morgan Absent Ms. Elysa Sanchez Yes Mrs. Ethel Seymore Yes Ms. Carla Thomas Yes

Yes

**MOTION PASSED** 

Mr. Lawrence A. Davenport

RESPECTFULLY SUBMITTED BY:

-Elisha Thompkins, Jr.

**Business Administrator/Board Secretary** 

Date